National Testing Agency

Question Paper Name: 10 Social Work 24th June 2019 Shiftl Setl
Subject Name: 10 Social Work

Creation Date: 2019-06-24 15:32:02

Duration: 180

Total Marks: 300

Display Marks: Yes

Share Answer Key With Delivery Yes

Engine:

Actual Answer Key: Yes

10 Social Worl:

Group Number : 1

Group Id : 646350218
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 300

PART [ General Aptitude

Section Id : 646350421

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 42

Number of Questionsto be attempted: 42

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350934
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 64635018832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



To organize discussion method in teaching effectively, which of the following conditions
should be met?

(a) Topic be easy

(b) Topic be declared in advance

(c) Topic of common interest

(dy Avallahility of more than one teacher

(e) Language facility of participants

Select appropriate answer from the options given below :

1 ), ) and (e) (2) (a), (b)and ()
@) (@), ®)and () @) (o), () and (e)
Options:

645350739359, 1
E4E3507 3940, 2
E4E35073941. 3
BAE3507394%. 4

Question Number : 1 Question Id : 64635018832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535073939, 1
64535073940, 2
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Correct Marks: 2 Wrong Marks: 0



Who developed the theory of ‘Multiple Intelligence’?

(1) Alfred Binet (2) L. Thurstone
(3) Charles Spearman (4) Howard Gardner
Options:

64535073943, 1
64535073944, 2
E4E35073945. 3
EAE3507 3946, 4

Question Number : 2 Question |d : 64635018833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535073943, 1
64535073944, 2
E4E35073945. 3
EAE3507 3946, 4

Question Number : 3 Question Id : 64635018834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

From the list of the effective teaching behaviours, identify those which are called key
behaviours.

1) Direct, audible and oral delivery to all students

(i1) Encouraging students to elaborate on an answer

(111) Warm and nurturing relationships with learners

iv) Varying modes of presentation

(v)  Preventing misbehaviour with a minimum of class disruption

(vi) Orgamsing what is to came and summarising what has gone before

Select vour answer from the options given below :

(1) (1), (iv) and (v) (2) (1), 1) and (i11)
(3) (i1), (1i1) and Gv) (4) (@v), (v) and (v1)
Options:

EAE35073947. 1
E4E3507 3948, 2
64535073945, 3



EAE3507 3950, 4

Question Number : 3 Question Id : 64635018834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535073947, 1
64535073948, 2
64535073949, 3
E4E3507 3950, 4

Question Number : 4 Question Id : 64635018835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements explains the concepts of inclusive teaching?

(1) Teacher facilitates the learning of the gifted students
() Teacher facilitates the learning of the weak students
(3) Teacher takes support of parents of the students to make them learn

(4) Teacher makes the students of different backgrounds to learn together in the same
class

Options:

64635073951, 1
64535073952, 2
64535073353 2
4835073954 4

Question Number : 4 Question Id : 64635018835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4635073951, 1
64535073952, 2
64535073953 2
64535073954, 4

Question Number : 5 Question Id : 64635018836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following best describes the Emotional Intelligence of learners?
(a) Understand the emotion of other people and your own

(b) Express oneself very strongly

() Being rational in thinking

(d) Adjusting one’s emotion as per situation

(e) Being creative and open to criticism

()  Accepting other people as they are

Choose yvour answer from the options given below :

1) (&), d and ® (2) (d), (e) and ()
(3) (a), (b) and (c) @ (b), ) and (d)
Options:

64535073955, 1
64535073956, 2
EAEZ507 3957, 3
E4E3507 3958, 4

Question Number : 5 Question Id : 64635018836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 6 Question Id : 64635018837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Bibliography given in a research report

(1) Helps those interested 1in further research
(2) Shows the vast knowledge of the researcher
(3) Makes the report authentic

(4) Is an optional part of the report

Options:

4535073950, 1
64535073960, 2
64535073961, 2
64535073362, 4

Question Number : 6 Question Id : 64635018837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4535073950, 1
64535073960, 2
64535073961, 2
64535073362, 4

Question Number : 7 Question Id : 64635018838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The research design is specifically related to which of the following features in research?

(1) Sample selection

(11) Formulation of a plan

(111)  Deciding about the tool for data collection
av)  Hypothesis making

(v) Choice of a field of inquiry

Select your answer from the options given below.

(1) (11), (111) and (v) (2) (), (1) and (111)
(3) 11), (av) and (V) (4) (), av) and (V)
Options:

B4E35073963. 1
64535073964, 2
64535073965, 3
E453507 3966, 4

Question Number : 7 Question Id : 64635018838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E3507 30963, 1
E4E3507 3964, 2
B4535073965. 3
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Question Number : 8 Question Id : 64635018839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Through which research method, the manipulation of an independent variable and its effect
on dependent wvariable is examined with reference to a hypothesis under controlled
conditions?

(1) Ex-post facto research (2) Descriptive research
(3) Casge study research (4) Experimental research
Options:

E453507 3967, 1
64535073968, 2
E4E3507 3960, 3
EAE35073970. 4

Question Number : 8 Question Id : 64635018839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535073967, 1
4835073968, 2
4535073969 2
64535073970, 4

Question Number : 9 Question Id : 64635018840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following research studies interpretation and meaning get more attention
than formulation of generalisations?

(1) Historical studies

(11) Survey studies

(1)  Philosophical studies

(iv)  Ethnographic studies

(v) Hypothetico — deductive studies
(vi)  Ex-post facto studies

Choosge your answer from the options given below.

(1) @), (i) and Gii) (2) (v), (v) and (vi)
3 @), av) and (v) @) @), i) and (v)
Options:

64535073971, 1
EABE3507 3972, 2
EAE3507 3973, 3
BAE3507 3974, 4

Question Number : 9 Question Id : 64635018840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535073971, 1
64535073972 2

64535073973, 3
E4E35073974. 4

Question Number : 10 Question Id : 64635018841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is a plagiarism checking website?

(1) http://go. turnitin.com (2)  http://www.researchgate.com
(3) http//www. editorial .elsevier.com (4) http://www.grammarly.com
Options:

64535073975, 1
4535073976, 2
EABE3507 3977, 3
EAE35073978. 4

Question Number : 10 Question Id : 64635018841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35073975. 1
BAE3507 3976, 2
BAE3507 3977, 3
64535073978, 4

Sub-Section Number: 2
Sub-Section 1d: 646350935
Question Shuffling Allowed : Yes

Question Id : 64635018842 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Michaelangelo 1s famous for having successfully interpreted the human body. His great
achievement is that of the painting of David whose hands reach out as a sign of human
capability and potential. It 1s assumed that the time he lived was ripe for exchange of
knowledge, development in science and matured enough to advance the horizon of
investigation in all fields. Renaissance humanism stressed on a serious rethink on the
nature of art that focussed on accurate details. In painting and sculpture, artists focussed on
not so casual but verifiable and minute details. Michaelangelo's paintings are no exception
toit. In a study published 1n the journal of the Roval Society of medicine, a group of surgeons
are of the opinion that the great master was “afflicted by an illness involving his joints”.
They have used his portraits as evidence to argue their view. During his life, he complained
of what he felt to be ‘gout’. Later he complained of his sore and stiff hands which the doctors
would find to be natural for someone who was engaged in handmade art. The doctors found
corroboration of those claims in portraits of the artist that show a hanging left hand with
both degenerative and non-degenerative changes. They attribute the pain not just to
arthritis, but to the stress of hammering and chiseling and note that though the master was
seen hammering days before his death at an old age, he did not write or sign his own letters
before his death. In recent times there have been attempts to diagnose famous artists with
diseases that were not known during their time. This practice has raised many questions,
especially on the 1ssue of ethics in research. It 1s also inferred from authentic analysis that
Michaelangelo persisted in his work until his last days. This theory would emphasize that
his artistic subject defied hus physical infirmmties.

Sub questions

Question Number : 11 Question Id : 64635018843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Michaelangelo lived during a time that lets us know that

(1) Human aspirations are limitless and open to new vistas of knowledge
(2) Cross cultural exchange in ideas 1g the only way for human progress
(2) It is progress of science and anatomy that contributes to civilizations exclusively

(4) Human beings possess language which is the only key to knowledge

Options:
64535073979, 1
645350733380 2



EAE3507 3981, 3
BAE3507 3982, 4

Question Number : 12 Question Id : 64635018844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Renaissance painting in Europe was sceptical of
(1) The obsessive medieval method of accuracy
(2) The classical sitmphlicity and lack of control
(3) The case and decorative excess of earlier art
(4) Expressionist techmque

Options:
4350735953 1

EAEZ507 3984, 2
E4E3507 3985, 3
BAE3507 3986, 4

Question Number : 13 Question Id : 64635018845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The controversy that the passage above refers to is whether
(1) Michael angelo worked under duress
(2) Michael angel o could contain his physical infirmity by artistic excellence
(3) Michaelangelo submitted to disease
(4) Michaelangelo survived different diseases before pursuing art

Options:
E4EZ2E072987. 1

EAEZ507 3988, 2
E4E3507 3989, 3
BAE35073930. 4

Question Number : 14 Question Id : 64635018846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

What generalisations do people subscribe to?

(1) Establishing facts by DNA tests

(2) Inferring the essence of character from famous people’s handwriting
(2) Carbon dating of the hair of celebrities to draw conclusion on their physical structure
(4) To retroactively diagnose famous artists and public figures of conditions that were

not prevalent during their time

Options:
64835073991, 1
E4E3507 3992 2



EAE3507 3993, 3
B4E35073954. 4

Question Number : 15 Question Id : 64635018847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

What actually may be concluded from the above passage?

(1) Physical infirmities do dissuade people with capabilities from excelling

(2) Excellence in any form triumphs over extraneous factors including physical ailments
(3) Michaelangelo's gout and other aillments lessened his efficiency
(4) The diseases Michaelangelo faced were due to constant hammering

Options:

E4E3507 3985, 1
B4E3507 3986, 2
64535073937, 3
64535073938, 4

Question Id : 64635018842 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cestion Label | Comprehiension
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Sub questions

Question Number : 11 Question Id : 64635018843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635073979, 1
64535073980, 2
64535073381, =
4835073982 4

Question Number : 12 Question Id : 64635018844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4635073983, 1
645350723984, 2
64535073985, 2
645350733586, 4

Question Number : 13 Question Id : 64635018845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IRfF ey 39 faaE an d 2 e e
(1)  HEFd U=Adl 4 g9 H W fFar

(2)  HIEFA Ul helloHsh SehEdl & gl AT sl Sieadan <l % R ahal o
(3) HIEF Urstell 2941 s o 81 T -0
(4) A F SO FA H g WA Uil (S | off sifed @

Options:
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Question Number : 14 Question Id : 64635018846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535073991, 1
64535073992, 2
64535073993 2
645350739394, 4

Question Number : 15 Question Id : 64635018847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535073995, 1
645350739396, 2
4835073997, 2
4535073998 4

Sub-Section Number: 3
Sub-Section 1d: 646350936
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635018848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The dance of the honeybee conveying to other bees where nector will be found 1s an example
of

(1) Mass communication (2) Group communication
(3) Interpersonal communication (4) Intrapersonal communication

Options:



EAE350739595. 1
B4E35074000. 2
64535074001, 3
64535074002, 4

Question Number : 16 Question Id : 64635018848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535073955, 1
64535074000, 2
64535074001, 3
EAEZ507 4002, 4

Question Number : 17 Question Id : 64635018849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct sequence of communication from the options given below :

(1) Information — exposure — persuasion — behavioural change
(2) Persuasion — information — behavioural change — exposure
(3) Exposure — information — persuasion — behavioural change

(4) Behavioural change — information — persuasion — exposure

Options:

4835074003, 1
4535074004, 2
64535074005, 5
4535074006, 4

Question Number : 17 Question Id : 64635018849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535074003, 1
4835074004, 2
4535074005, 2
64535074006, 4

Question Number : 18 Question Id : 64635018850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a function of mass media?

(1) To transmit culture

(2) To formulate national policies

(3) To help the judiciary take its decisions
(4) To stabilise the share market

Options:

64535074007, 1
4535074008, 2
4535074009, 5
64535074010 4

Question Number : 18 Question Id : 64635018850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535074007, 1
64535074008, 2
64535074009, =
64535074010, 4

Question Number : 19 Question Id : 64635018851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In a classroom situation, a teacher orgamses group discussion to help arrive at a solution of a
problem. In terms of a model of communication used, it will be called

(1) A transactional model (Z) Aninteraction model
(3) A horizontal model (4) A linear model
Options:

64535074011, 1
64535074012 2
64535074012, 3
EAEZ5074014. 4

Question Number : 19 Question Id : 64635018851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) el afea (2) =warskar giaarT
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Options:

64535074011, 1
EAEZ5074012. 2
E4E35074013. 3
BAE35074014. 4

Question Number : 20 Question Id : 64635018852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Today’s media-society equation is largely

(1) Mystical (2) Morally bound
(3) Consumer conscious (4) Tradition centric
Options:

64535074015, 1
EAE3507401E. 2
EAE35074017. 3
B4E350740158. 4

Question Number : 20 Question Id : 64635018852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  w=wd (2) AAfaw w1 4 fagw
(3)  IuMiEET O=d 4) "R higd
Options:

E4E35074015. 1
64535074016, 2
64535074017, 3
64535074015, 4

Question Number : 21 Question Id : 64635018853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

QOar 12 to rowboat as foot 1s to

(1) running (2) sneaker
(3) skateboard (4) Jjumping
Options:

E4E35074013. 1
BAE35074020. 2
64535074021, 3
4535074022, 4

Question Number : 21 Question Id : 64635018853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) a=tai (2) LA 3

(@)  Theard A 2 4) F a2
Options:

E4E35074013. 1
BAE3507 4020, 2
BAE35074021. 3
4535074022, 4

Question Number : 22 Question Id : 64635018854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For all integers y > 1, {y}=2y+(2y—1)+(2y-2)+...+1.
What is the value of (3) x {(2)? Where x 1s a multiplication operator?

(1 116 (2) 210
B 263 4 478
Options:

EAE35074023. 1
BAE3507 4024, 2
64535074025, 3
4535074026, 4

Question Number : 22 Question Id : 64635018854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gt ol el % y > 1 e, (y} 2y+(2y—1)+(2y—2)+...+1.

(3) x (2) I HA FAT 7 @l x U AHITh 2

(1) 116 (2) 210
(3) 263 (4) 478
Options:

BAE35074023. 1
64535074024, 2
64535074025, 3
EAEZ507 4026, 4

Question Number : 23 Question Id : 64635018855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 152 15 divided into four parts proportional to 3, 4, 5 and 7, then the smallest part 1s

1 29 (2) 26
B 25 4) 24
Options:

64535074027, 1
E4E3507 4028, 2
EAE3507 4029, 3
EAE3507 4030, 4

Question Number : 23 Question Id : 64635018855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1 29 (2 26
(3 25 @ 24
Options:

64535074027, 1
E4E3507 4028, 2
EAEZ507 4023, 3
EAE3507 4030, 4

Question Number : 24 Question Id : 64635018856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a new budget, the price of petrol rose by 25%. By how much percent must a person reduce
his consumption so that his expenditure on it does not increase?

(1) 10% (2) 15%

(3) 20% 4 25%

Options:

64535074031,
4835074032,
4835074033,
4535074034,

o IR

Question Number : 24 Question Id : 64635018856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 10% (2) 15%
(3) 20% 4) 25%
Options:

E4E35074021. 1
BAE3507 4032, 2
64535074033, 3
64535074034, 4

Question Number : 25 Question Id : 64635018857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of money doubles at compound interest in 6 years. In how many vears will it become
16 times?

(1) 16 years (2) 24 years
(3) 48 years (4) 96 years
Options:

64535074035, 1
EAE3507 4036, 2



EAE3507 4037, 3
B4E3507 4038, 4

Question Number : 25 Question Id : 64635018857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I3 G 6 AWl H hglg <O 9 aFHT 81 Sl 21 78 fohad adl H 16 71 81 | ?

1 16ad (2) 247§
@) 48 4 96784
Options:

B4E35074035. 1
64535074036, 2
64535074037, 3
64535074038, 4

Question Number : 26 Question Id : 64635018858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the proposition ‘Houses are not bricks’ 1s taken to be False then which of the following
propositions can be True?

(@) All houses are bricks

(b) No house 12 brick

(c) Some houses are bricks
(d) Some houses are not bricks

Select the correct answer from the options given below :

(L) (and(© (2) (&) and (d)
(3) (b) only 4 (c) only
Options:

EAE35074029. 1
E4E3507 4040, 2
64535074041, 3
E453507404%, 4

Question Number : 26 Question Id : 64635018858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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b) =Rz
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(d) @ § A g
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(1) (b) =01 (c) (2) (a) & ()

@) %A« (b) @) Fad )
Options:

64535074039, 1
64535074040, 2
E4EZ5074041. 3
EAEZ507 4042, 4

Question Number : 27 Question Id : 64635018859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :

1) No paper is pen

(11) Some paper are handmade.
Conclusions :

(1) All paper are handmade
(2) Some handmade are pen

(3) sSome handmade are not pen
(4) All handmade are paper

Options:

64535074043, 1
64535074044 2
64535074045 =
4835074046, 4

Question Number : 27 Question Id : 64635018859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635074043 1
64635074044 2

E4E35074045, 3
EAE3507 4045, 4

Question Number : 28 Question Id : 64635018860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All republics are grateful’ and ‘Some republics are not grateful’ cannot both be true, and
they cannot both be false. This 1s called as

(1) contraries (2) contradictories
(3) subaltern (4) super altern
Options:

64535074047, 1
E4E35074045. 2
EAE3507 4043, 3
EAE35074050. 4

Question Number : 28 Question Id : 64635018860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  fauda (2) e
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Options:

64535074047, 1



EAE3507 4045, 2
64535074045, 3
64535074050, 4

Question Number : 29 Question Id : 64635018861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the reasoning in the following argument :

‘Use of teaching aids in the classroom to enhance learning i1s important in a similar way as

that of the use of ICT for production of knowledge’.

(1) Hypothetical (2) Analogical
() Inductive (4) Deductive
Options:

E4E35074051. 1
EAE3507 4052, 2
64535074053, 3
64535074054, 4

Question Number : 29 Question Id : 64635018861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35074051. 1
EAE3507 4052, 2
64535074053, 3
64535074054, 4

Question Number : 30 Question Id : 64635018862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition No historians are non-mathematician’ is equivalent to which of the

following proposition?

(1) All historians are mathematicians

(2) No historians are mathematicians

(3) Some historians are mathematicians

(4) Some historians are not mathematicians
Options:

64535074055, 1
EAE3507 4056, 2
EAE3507 4057, 3
E4E3507 4058, 4

Question Number : 30 Question Id : 64635018862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535074055, 1
64535074056, 2
64535074057, =
64535074058, 4

Sub-Section Number: 4
Sub-Section 1d: 646350937
Question Shuffling Allowed : Yes

Question Id : 64635018863 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label @ Comprehension



Consider the following table that shows the number (in lakhs) of different sizes of LED
televigion sets sold by a company over the last seven years from 2012 to 2018. Answer the
questions based on the data contained in the table

Sale of LED Television sets (in lakhs) of different sizes (in inches)

Year Size of LED Television sets (in inches)
29" 24" 32" 40" 49"
2012 85 154 124 112 118
2013 100 126 112 94 136
2014 106 124 85 115 145
2015 115 100 160 100 85
2016 100 85 145 85 100
2017 115 70 175 55 130
2018 125 95 170 110 155

Sub questions

Question Number : 31 Question Id : 64635018864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase/decrease in the sales of 32-inch LED
Television sets in 2017 compared to that in 20137

1) 36% (2 56%
@ 5% 4 64%

Options:

4535074059,
64535074060,
64535074061,
4835074062,

[ N

Question Number : 32 Question Id : 64635018865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which size LED Television sets 12 the total sales of all the seven years the maximum?

(1) 22-inch Television (2) 24-inch Television
(3) 32-inch Television (4) 49-a1nch Television
Options:

64535074082, 1
EAEZ507 4064, 2
EAE3507 4065, 3
BAEZ507 4066, 4

Question Number : 33 Question Id : 64635018866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1g the difference in the number of 40anch Television sets sold 1n 2013 and 20187

(1) 1,600,000 (2) 1,500,000
(3) 15,000,000 (4) 16,000,000
Options:

64535074067, 1
E4E3507 4088, 2
EAE3507 4063, 3
EAEZ507 4070, 4

Question Number : 34 Question Id : 64635018867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the total sale of Television sets of size 49-inches (in lakhs) over all the seven years?

(1) 912 (2) 896
(3) 879 4) 869
Options:

BAE35074071. 1
BAEZ5074072. 2
64535074073, 3
E4E35074074. 4

Question Number : 35 Question Id : 64635018868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which LED Television set 1s the total sales of all the seven years the minimum?

(1) 22-inch Television (2) 244anch Television
(3) 49-inch Television (4) 40-anch Television
Options:

64535074075, 1
64535074076, 2
EA535074077. 3
EAE3507 4075, 4

Question Id : 64635018863 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension
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9" 24" 32" 40" 49"
2012 &5 154 124 112 118
2013 100 136 112 04 136
2014 106 124 85 115 145
2015 115 100 160 100 &5
2016 100 85 145 85 100
2017 115 70 175 55 130
2018 125 95 170 110 1565

Sub questions

Question Number : 31 Question Id : 64635018864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i 2013 1 o # ad 2017 % A 32 39 F ud § & ¥fifaem dz i ekt § cren e faea
afg/+H &7

(1)  36% (2) 56%

@  57% (4) 64%

Options:

64535074059,
4835074060,
4835074061,
4535074062,

o IR

Question Number : 32 Question Id : 64635018865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i ard A il e Tkl form AR & v § @1 eelifas gz f gatiaes &7

(1) 292-39 Jefifaem (2) 24-39 IAifaeH
(3) 323w Iefifaem (4) 49-3 efifasm
Options:

64535074063, 1
64535074064, 2
EAE3507 4085, 3
EAEZ507 4065, 4



Question Number : 33 Question Id : 64635018866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 1,600,000 (Z) 1,500,000
(3) 15,000,000 (4) 16,000,000
Options:

BAE35074087. 1
64535074068, 2
64535074069, 3
EAE35074070. 4

Question Number : 34 Question Id : 64635018867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 912 (2) 896
(3) 879 (4) 869
Options:

E4EZ5074071. 1
BAEZ507 4072 2
BAE35074073. 3
64535074074, 4

Question Number : 35 Question Id : 64635018868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ot A ani i foe s & ud § &) efifosm G2 i g feshl =gaae 237

(1) 2239 eitfasH (2) 24-3 IeAifeRH
(3)  49-39 AifasH (4) 40-39 IAifoeH
Options:

64535074075, 1
EAEZ507 4076, 2
EAEZ507 4077, 3
BAE35074078. 4

Sub-Section Number: 5
Sub-Section Id: 646350938



Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635018869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a type of malware intentionally inserted into a software system
that will setoff a malicious function when specified conditions are met?

(1) Worm (2) Trogan
(3) Spyware (4) Logic bomb
Options:

EAE35074073. 1
64535074080, 2
64535074081, 3
4535074052, 4

Question Number : 36 Question Id : 64635018869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) & (2 ged
(3)  EaE (4) it 98
Options:

64535074073, 1
EAE3507 4080, 2
EAE35074081. 3
BAE3507 4082, 4

Question Number : 37 Question Id : 64635018870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Select the true statement about an Operating System (0S)?

(1) An OS controls peripherals, allocates memory and organises data into fields and
records

(2) An OS provides protection against viruses and controls peripherals
(3) An OBS controls peripheral, and allocates memory and processor time

4) IAD OS controls the processor and peripherals and allows the user to connect to the
nternet

Options:

64635074083, 1
64535074084, 2
64535074085, =
4835074086, 4

Question Number : 37 Question Id : 64635018870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

4835074083,
4535074084,
4535074085,
4535074086,

o LIRS

Question Number : 38 Question Id : 64635018871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that shows the storage devices in order of capacity from lowest to highest

(1)  CD-ROM, DVD-ROM, Blu-ray
@  Bluray, CD-ROM, DVD-ROM
@  DVD-ROM, Blu-ray, CD-ROM
4  DVD-ROM, CD-ROM, Blu-ray

Options:

64535074087, 1
64535074088, 2
64535074089, =
64535074090, 4

Question Number : 38 Question Id : 64635018871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

£4635074087. 1

64635074088, 2

EAE3507 4089, 3
EAE3507 4030, 4



Question Number : 39 Question Id : 64635018872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements(s) is/are True in respect of Wireless Technology?

P Bluetooth 1s a wireless technology which can be used to connect a headset to a mobile
phone.
Q@ : DBluetooth is a long range wireless technology and is a low cost means of data
transfer.
(1)  Ponly (2) Q only
(3) Both P and Q (4) Neither P nor @
Options:

E4E35074091. 1
EAE3507 4032, 2
64535074083, 3
645350740394, 4

Question Number : 39 Question Id : 64635018872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) Fad P (2) %EIEIQ

(3) PIrQagHr (4) ATPAQ

Options:

64535074091, 1
64535074092, 2
E4E350740392. 2
64535074094, 4

Question Number : 40 Question Id : 64635018873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following pairs LEAST matches in respect of computers?

(1) 1 GigaByte : (1024) x (1024) x (1024) x 8 bits
(2) CRT . Cathode Ray Tube
(3) ROM . Rapid Online Memory
(4) CPU . Central Processing Unit
Options:

B4E35074055. 1
645350740386, 2
64535074037, 3
64535074035, 4

Question Number : 40 Question Id : 64635018873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  1fhremge : (1024) x (1024) x (1024) x 8 fzm
@ " aErd . Fde e
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@ H@fig : Hge At e
Options:

64535074085, 1
64535074036, 2
64535074037, 3
E4E3507 4035, 4

Question Number : 41 Question Id : 64635018874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the last few years, India has been affected by which of the following tropical cyclones?

(1) Gaja, Hudhud, Bhima (2) Hudhud, Bhuma, Ocklu
(3) (Gaja, Hudhud, Ockhi (4) Gaja, Bhima, Ockhi
Options:

E4E3507 40593, 1
64535074100, 2
64535074101, 3
64535074102, 4



Question Number : 41 Question Id : 64635018874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) T, gage, HiH (2) @cga, W, S
(8) TN, gaga, ANl (4) T, W, Sl
Options:

6453507403949, 1
64535074100, 2
E4E35074101. 3
EAE35074102. 4

Question Number : 42 Question Id : 64635018875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Which of the following are priority areas in relation to the Sustainable Development Goals?
(a) No poverty
(b) Zero hunger

(c) Reducing urbanization

(d) Peace, justice and strong institutions

Choose the correct answer from the options given below :

1 @, b),© (2 (a), (), @
@) (b)) @ @ (a), (b), (D
Options:

64535074102, 1
E4E35074104. 2
E4E35074105. 3
64535074106, 4

Question Number : 42 Question Id : 64635018875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535074103, 1
64535074104, 2
64535074105, 3
64535074108, 4

Question Number : 43 Question Id : 64635018876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Methemoglobinemia is a condition in which blood 1s not able to carry and

deliver enough oxygen to the body.

Reason (K) : Consuming drinking water with high mnitrate levels may cause

methemoglobinemia.

Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 15 false but (R) 1s true

Options:

64635074107, 1
64535074108, 2
64535074109, =
648350741104



Question Number : 43 Question Id : 64635018876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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argfd 421 # ran 2|
as(R) :  AEge F IA °E A YA F I w8 WAl 2T g
A=l feu v Qe O OE IO F =99 W

(1) (A AR®) aF & 2 a0 (R), (A) F 1 saven 8
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(3 (A ud g, e R) T 2
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Options:

64635074107, 1
64535074108, 2
64535074109, =
648350741104

Question Number : 44 Question Id : 64635018877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : High concentration of ozone in the lower troposphere is desirable.

Reasons (R) : Ozone present in the atmosphere protects the living organisms on the

surface of earth from the harmful ultra-violet radiation of the sun.

Choose the correct answer from the optons given below :

(1) Both (A) and (R) are true and (R) 12 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:
64635074111, 1
6435074112 2



E4E35074113. 3
64535074114, 4

Question Number : 44 Question Id : 64635018877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aftswsE (&)  : et oy dea § <NA %0 3 gign e 2
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(1) (A) =R (R) aHT &1 2 aur (R), (A) 6 w9l =aren 2
@ (A @R ®R)aFT 9 2, g ®), (A) #i gt saren 4 2
@) (A 5 2, e (R) Tea 2

@ (A T 2, fg R) ot 2
Options:
c4E=ZEE074111.1
CASZE074112. 2
CAEZE074113 2
LAE2E074114 4

Question Number : 45 Question Id : 64635018878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Algal blooms 1n oligotrophic lakes are

(1) very frequent (2) frequent
(3) very rare (4) widespread
Options:

E4E535074115. 1
64535074116, 2
64535074117, 3
645350741158, 4

Question Number : 45 Question Id : 64635018878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  d aImER (2) ==
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Options:

645350741151
64535074116, 2
64535074117, 3
EAE350741158. 4

Question Number : 46 Question Id : 64635018879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In post independence India, which one of the following Committee/Commission’s report deals
with all levels of education in India?

(1) Sargeant Commisegion

2 Hartog Committee

(3) Kothari Commission
(4) Radhakrishnan Commission

Options:

64635074119, 1
64535074120 2
64535074121, =
4835074122 4

Question Number : 46 Question Id : 64635018879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Em%gﬁﬁmm%ﬂﬂ%ﬁqﬁrmmmaﬁwwﬂﬁw%mﬁmﬂmm%

(1)  dmie AE
(2) g2 |l e
(3)  DeN @ figid
@)  TUFOE A=
Options:
64635074119, 1
64635074120, 2

64535074121, 3
4535074122, 4

Question Number : 47 Question Id : 64635018880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Education Commission of India that first took serious note of the problem of Brain Drain
was

(1) The Education Commission of India
(2) The University Education Commission
(3) The Calcutta University Commission
(4) The Sargeant Commission

Options:

645350741231
64535074124, 2
64535074125 3
4535074126, 4

Question Number : 47 Question Id : 64635018880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  wrdE e
@)  Towafoenem fem smm
(3) oo EvaEEed AR
@) A AEE

Options:

64635074123, 1

64635074124, 2

64635074125, 3

64635074126, 4

Question Number : 48 Question Id : 64635018881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The present form of Inter University Board that was previously established for promoting
cooperation and coordination among Universities is

(1) UGC (2) AIU
(3) NUEPA 4) ICSSR
Options:

64535074127, 1
EAE35074125. 2
E4E35074129. 3
64535074130, 4

Question Number : 48 Question Id : 64635018881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

EAE35074127. 1
B4E35074128. 2
64535074125, 3
64535074130, 4

Question Number : 49 Question Id : 64635018882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following instructional designs 1s not a part of SWAYAM launched by
Government of India?

(1) E-tutorial (2) E-Content
(3) Physical interaction (4) Discussion Forum
Options:

E4E35074121. 1
EAE3507 4132 2
64535074133, 3
64535074134, 4

Question Number : 49 Question Id : 64635018882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafiaa @ o =9 a1 SguTeHEs Affeey WHA TEH g 9% [T T UF s € a15 U uH (FE9E) H
snfee 7 27

(1) §- i@« (2) 3§ - @i
@)  vifas @i (4) ===
Options:

E4E35074121. 1
EAE35074132. 2
64535074133, 3
64535074134, 4

Question Number : 50 Question Id : 64635018883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following NOT correctly matched?

(1) Gyandarshan —  Satellite based educational T.V. Channel
11) Gyan vam —  Educational FM Radio network
n) MOOCs —  Massive Open Online Credits

Choose the correct answer from the options given below :

(1) Only (1) and (11) (2) Only () and (11)
(3) Only (111) (4) Only (1) and (111)
Options:

645350741351
64535074136, 2
E4E35074137. 3
EAE3507 4138, 4

Question Number : 50 Question Id : 64635018883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ad (i) =1 (i) (2)  had (i) A (i)

(3)  Fad (iii) (@) wad () =AW (i)
Options:

E4E35074135. 1
64535074136, 2
64535074137, 3
64535074138, 4
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Section Id : 646350422
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Section Marks: 200
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Sub-Section Number: 1
Sub-Section 1d: 646350939
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635018884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which vear was the Charity Organization Society established in London?

1. 1869
2. 1899
3. 1877
4, 1872

Options:

64535074139, 1
64535074140, 2
64835074141, =2
4535074142 4

Question Number : 51 Question Id : 64635018884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oo aef de A IR sifffHreeR St S R 3 T 49
1. 1869
2. 1899
3. IBF
4. 1872
Options:

E4E35074139. 1
B4E35074140. 2
64535074141, 3
E453507414Z. 4

Question Number : 52 Question Id : 64635018885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements are true with regard to the differences between rural
and urban commumties?

(a) Rural communities exhibit a preponderance of primary contacts and urban
communities are characterised by an increase in secondary group confacts.

(b) “Ascription’ is the main principle in the determination of status of an individual in
the urban commumity, while it is ‘achievement” for rural commumnity:.

(¢) Informal social control is more effective in enforcing conformity to group mores
in urban communities, while rural communities are characterised by formal social
control.

(d)y The need for social adaptability i1s high in urban communities as compared to
rural communities.

Select the correct answer from the options given below

1. (a)and (b)
2. (b)and(¢)
3. (a)and(d)

4. (a), (b)and(d)

Options:

64535074143,
64535074144,
64835074145,
4535074146,

[ N

Question Number : 52 Question Id : 64635018885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (a) 3R (b)
2. (B AR
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4. (a), (b) IR (@)
Options:
64535074143, 1
64535074144 2
64835074145 =2
4535074146 4

Question Number : 53 Question Id : 64635018886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The “social planmng model’of commumnity organization was proposed by
1. H.Y. Siddiqui
2. Jack Rothman
3.  Marie Weil

4. Murray G. Ross

Options:
64635074147, 1
64535074148, 2



E4E35074143. 3
64535074150, 4

Question Number : 53 Question Id : 64635018886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TG T3 & “HHIfors dIoHT ey’ &1 W o= fodn 4r?
1. Ud. R et

2. Of® AsHA

3. ®Hid99

4. TSN IE
Options:

B4E35074147. 1
64535074148, 2
64535074149, 3
64535074150, 4

Question Number : 54 Question Id : 64635018887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is/are not true in the construction of a Likert scale?

(a) The items must be in the form of questions

(b) The items must all relate to the same object

(¢) All items must have a neutral view of the phenomenon under investigation

(d) The goal of Likert scale is to measure intensity of feelings

Select the correct answer from the options given below :
1. (a)and(c) only
2. (b) only
3. (b)and (c) only
4. (b), (c)and (d) only

Options:
64635074151, 1
64535074152 2



E4E35074153. 3
64535074154, 4

Question Number : 54 Question Id : 64635018887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. %ad (b)
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Options:

64535074151, 1
64535074152 2
64835074152 2
4535074154 4

Question Number : 55 Question Id : 64635018888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The research design that entails collection of data on a sample of cases at a single point
of time is called

1. cohort

2. longitudinal
3. cross-sectional
4. expost facto

Options:
64635074155, 1



E4E35074156. 2
64535074157, 3
64535074158, 4

Question Number : 55 Question Id : 64635018888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T8 Y e R < toa o g § 7951 & 9 9 sroxaedl g1t &, seard &
1.  HET @IEl)
2. 3 (@iRTegs)
3. JATHY-FIC (GIY9-HRHad)
4. AR (TEE-URE hae)

Options:

64635074155, 1
64535074156, 2
64535074157, 2
64535074158, 4

Question Number : 56 Question Id : 64635018889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following 1s not an objective of the National Population Policy, 20007

1.  To address the unmet needs for contraception, health care infrastructure and
health personnel

2. To provide integrated service delivery for basic reproductive and child
health care

3. To bring the TFR to replacement levels by 2010 through wvigorous
implementation of inter-sectional operational strategies

4. To achieve population decline by 2013

Options:

64835074159, 1
4835074160, 2
64535074161, 5
4535074162, 4

Question Number : 56 Question Id : 64635018889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2220;1;5?4159. 1
435074160, 2
64535074161, 2
64535074162, 4

Question Number : 57 Question Id : 64635018890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The distinguishing trait of social policy is its :

1.

5.

Options:

64535074163,
64535074164,
64535074165,
EAEZ507 4166,

focus on rational decisions about future goals and future courses of action
concern with distributional or redistributive character

emphasis on guidelines or principles which give direction to a particular
course of action by the government

potential to usher in the fundamental structural change

o IR

Question Number : 57 Question Id : 64635018890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



grTfoTes =ifa 1 Ay qur g & -
1. Tg Y @87 quT Hidt SRR % SR & gieqera Fawamar g
2. 9% WoR Aaw@R! au1 GRaaveaRl T U 4 8

3. gg 3F =3 aruar Rrgidl 2 96 a1 2, 9 TR ot i Ay sdflafy
&I o= e ot §

4. U8 YuHd SEATHS URad 9 A 9ed ?

Options:

64835074163, 1
4535074164, 2
64535074165, 5
4535074166, 4

Question Number : 58 Question Id : 64635018891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following about endogenous development 1s not true?
1. It refuses the view that development is equal to modernization

2. It holds the view that goals of development have to be generated from
within

3. It refers to social, cultural and symbolic acceptance of westermzation

4. It refuses the view that development is equal to westernization

Options:

64635074167, 1
64535074168, 2
64535074169, 2
4835074170, 4

Question Number : 58 Question Id : 64635018891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635074167, 1
64535074168, 2
64535074169 =
64535074170, 4

Question Number : 59 Question Id : 64635018892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Gated communities’symbolise
(a) social inequality
(b) spatial inequality

(¢) prnvatization of space

(d) expanded public space

Select the correct answer from the options given below :

i

(a) and (b) only

(a) and (c) only

L

3. (a), (b)and(c) only

4. (a), (b), (c)and (d)

Options:

64635074171, 1
4835074172 2
64535074172, 5
64535074174 4



Question Number : 59 Question Id : 64635018892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635074171, 1
64535074172 2
64535074173 2
64535074174, 4

Question Number : 60 Question Id : 64635018893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who postulated that “power is productive and relational, people produce their power
through a web of complex practices within institutions and communities.™ ?

1. Michel Foucault
2 Ronald Labonate
3 Antomo Gramsel

4, Paulo Freire

Options:
64535074175, 1
64535074176, 2

64535074177, 3



EAE35074175. 4

Question Number : 60 Question Id : 64635018893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350741751
64535074176, 2
4535074177, 3
64535074175, 4

Question Number : 61 Question Id : 64635018894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are the five critical locality-relevant social functions of the
community as a social system?

1. reciprocity; social inclusion; social capital; collaboration; mediation

2.  production-distribution-consumption; socialization; social control; social
participation and mutual support

3. network bulding; coalition bulding; people’s participation; mutual
support; contingency management

4.  socialization; social control; social capital, mutual support, social
participation
Options:
£4635074179. 1
64635074180, 2

E4E3507 4181, 3
EAE3507 4182, 4

Question Number : 61 Question Id : 64635018894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635074179, 1
64535074180 2
64535074181, =
4835074182, 4

Question Number : 62 Question Id : 64635018895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which community practitioner proposed a set of principles of community organization
based on *discontent with existing conditions’?

1. Murray G. Ross
2. Arthur Dunham
3. H. Y. Siddiqu

4. Peter Baldock

Options:

64635074183, 1
64535074184, 2
645350741385, =2
48350741386, 4

Question Number : 62 Question Id : 64635018895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 4 g gl eried = gy Ry 3 sy & nyR R 9Hg™ W69 &
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1. {39
2. AW ETEH
R e A | 0 5 =

4. Ui gESi®

Options:

64835074183, 1
4535074184, 2
64535074185, 5
64535074186, 4

Question Number : 63 Question Id : 64635018896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of “hegemony” and the role of ‘intellectuals’ was recognized by
1. Paulo Friere
2. Margaret Ledwith
3. Angela Davis

4. Antomo Gramsci

Options:

4835074187, 1
64535074188, 2
64535074189, 5
64535074190 4

Question Number : 63 Question Id : 64635018896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



IR’ B SEROT quT ‘Sfeoifaal @ Hite o1 e e fearg?
1. ofar e

2. Wrikcdsky

3. Ul Sfad

4. i ureEm!
Options:

64535074187, 1
E4E3507 4188, 2
EAE35074189. 3
BAE3507 4130, 4

Question Number : 64 Question Id : 64635018897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Campaign, appeals, petitions, boycotts and strikes are the “change tactics’employed by
which of the following models ?
1. Social planning model
2. System change model
3.  Neighbourhood development model

4. Social action model

Options:

64635074191, 1
64535074192 2
64535074193 =
64535074194 4

Question Number : 64 Question Id : 64635018897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fafeiea A 9 oF-T1 Alea AfHamE, onfte, a1, Sfter 3k gedra o1 v 'ufvad= &t
T & 0 H Sl 22

1. 9IS deHT Alsd
2. YUTel gitad= Hisd
3. UsSH faer Hisd

4. 9IS B Alsd



Options:

64535074191, 1
4835074192 2
4535074192 2
64535074194, 4

Question Number : 65 Question Id : 64635018898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

National Commuission for Scheduled Castes was set up under which Article of the
Constitution?

1. Article 338
2. Article 338-A
3.  Article 340

4. Article 350-B

Options:

64535074195, 1
4835074196 2
4535074197, 2
64535074198, 4

Question Number : 65 Question Id : 64635018898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AU & 59 sr=ie & SiRid TP Srgyfad it SiTaiT &1 113 fasar mmam u1?

1. 3g=c 338
2. 3% 338-A
3. 3TEg 340
4.  3g=5% 350-B

Options:

64635074195, 1
64535074196, 2
64535074197, 2
4835074198 4

Question Number : 66 Question Id : 64635018899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following legal instruments in their correct chronological order of
enactment :

(a) The Protection of Civil Rights Act
(b) The Untouchability { Offences) Act
(¢) The Scheduled Castes and Scheduled Tribes {(Prevention of Atrocities) Act

(dy The Prohibition of Employment as Manual Scavengers and their Rehabilitation
Act.

Options:

4350741499 1
64535074200, 2
64535074201, 5
64535074202, 4

Question Number : 66 Question Id : 64635018899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Faferfad faurh feredl 1 37 sifafaH & 98 HTaHH & SuR SERYd S :
(a) fofeq ofder dvem sfafan

(b) ST (SORTY) e

(¢)  3Tgrad Sfaar 3R YR SHoaal (™R Faro siftfan

(d) TN Y HE IS ard Bl @ FareH &1 wfavy SR 36T gar sifafad

R few T e & ¥ 98 e I
L (@), (), (©3R@
2. (b), (), () 3R (d)
3. (d), (), (b) 3R ()
4. (b), (@), (d 3R ()

Options:

64635074199, 1
E4E35074200. 2
64535074201, 5
64535074202, 4



Question Number : 67 Question Id : 64635018900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following, declared children as the nation’s “supremely important assets’?
1.  The Children Act, 1960
2. The National Policy for Children, 1974
3.  The National Charter for Children, 2003

4. The National Policy for Children, 2013

Options:

64535074203, 1
64535074204, 2
64535074205, 2
4835074206, 4

Question Number : 67 Question Id : 64635018900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofafed 5 9 e grr =i o1 Y 91 gaifte Aewyy sy’ aifta fesar man 87
1. 9ae efFgH 1960
2. P ST Hifd, 1974
3. UPE SEe 91, 2003
4. PG STEe Hifd, 2013

Options:

64635074203, 1
64535074204, 2
64535074205, =
4835074206, 4

Question Number : 68 Question Id : 64635018901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is not correct about the National Green Tribunal?

1. Established for the effective and expeditious disposal of cases relating to
environmental protection.

2. Specialized body to handle environmental disputes 1nvolving
multidisciplinary issues.

3. It 1s bound by the procedures of Code of Civil Procedure, 1908.

4. Itis guided by principles of natural justice.

Options:

64535074207, 1
E4E35074208. 2
4535074209 2
64535074210, 4

Question Number : 68 Question Id : 64635018901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafefea § 9 si-a1 gt sRa st & IR | 98 781 87
1. OdERu &1 gRen Sa gl o wHEt aun i Fuer gg Ttedl
2. uaiaRw gt fare, o sgfawdt o wnfhe § @ Fues 8g ity e
3. ug e visar st 1908 S ufpar 9 smee 2
4. I% IPa O™ & Rrsidl g feneRa g 2

Options:

64535074207, 1
64535074208, 2
4835074209 2
64535074210, 4

Question Number : 69 Question Id : 64635018902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who classified “authority” into traditional, charismatic and rational-legal?

[a—

Frederick Tylor
2. Elton Mayo
3. Max Weber

4. Mary Parker Follet

Options:

64835074211, 1
E4E35074212. 2
64535074212, 5
64535074214, 4

Question Number : 69 Question Id : 64635018902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R TSR B TRUR®, SR quT a8Ta- Rt & wu & affea fa 27

1.  WheRe W
2. UwAHG

3. Hewaw

4. B0 USR Biae

Options:

64635074211, 1
E4E35074212. 2
64535074212 5
64535074214, 4

Question Number : 70 Question Id : 64635018903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following reports emphasized on “person in situation gestalt™?
1.  Gulbenkian Study Report
2. Hollis-Tylor Report
3.  Lane Committee Report

4. Beveridge Report



Options:

64535074215, 1
E4E35074216. 2
4535074217, 2
64535074218, 4

Question Number : 70 Question Id : 64635018903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fofafed # @ feg RO 8 ot srow afed e’ W w4 Rarmarg?
1. Tesf<pae sierae Ruc

2. gieg-oer e
3. o gEfd R
4. Safve ol

Options:

64535074215, 1
64535074216, 2
4835074217, 2
64535074218, 4

Question Number : 71 Question Id : 64635018904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who postulated the “self > as “i1deal self” and ‘real self*?
1.  Carl Rogers
2. Abraham Maslow
3. Henry Fayol

4.  Frederic Herzberg

Options:

64635074219, 1
64535074220 2
64535074221, =
4835074222 4

Question Number : 71 Question Id : 64635018904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



50 d foam ‘@ &t ifHuRoT &1 3Rl W' Ul 'ardide & & TUH U &1 87
1. o

2. AFTEH AR

3. IO

4. Tpeive gela
Options:

E4E350742139. 1
BAE3507 4220, 2
6435074221, 3
EAE3507 4222, 4

Question Number : 72 Question Id : 64635018905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List-II :

List-1 List-II
(a) Null hypothesis iy
(b) Research hypothesis i) o
(¢) Chi-square (1) Ho
(d) Standard deviation av) H;

Choose the correct option given below :

1. (a)-v), (b)-(n); (c)-); (D1
2. (a)-(ii); (b)-(iv); (c)}-1); (d)—(ii)
3. (a)-(i); (b)), (c){in); (d)y-(v)
4. (a)-(v); (b)-(); (¢)—(1); (d)—111)

Options:

64635074223, 1

£4635074224. 2

EAE3507 4225, 3
BAEZ507 4226, 4



Question Number : 72 Question Id : 64635018905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

eI @1 G-I 9 gafed sifon
-1 -1

(a) P vesa (1) v

(b) SFHYH UIdhedl (ii) G

(c) oHB-T ()  Ho

(d) OF a9 iv)  H;
feu U feedl B 9 el IR &1 99 ifol

L (a)-av); (b)-(u); (c)-(u); (1)
2. (a)-(); (b)-v); (0)-1); (D)D)
3. (a)-); (0)-Q); (e)ui); (d)-(v)
4. (a)-Qv); (0)-(); (¢)-0); (A1)

Options:

435074223 1
64535074224, 2
64535074225, 5
64535074226, 4

Question Number : 73 Question Id : 64635018906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following statements are frue regarding National Rural Livelihood
Mission (NRLM)?

(a) The scheme was implemented by Ministry of Rural Development.
(b) It was launched in 2011.

(c¢) It orgamses rural poor into self-help groups.

(d) It develops better livelihood options for the poor through self-employment.

Select the correct answer from the codes given below :

—

(a), (c)and (d)only
2. (b),(c)and(d) only
3. (a)and (b) only

4. (a), (b), (c¢)and (d)

Options:

64535074227, 1
64535074228, 2
64535074229 2
64535074230, 4

Question Number : 73 Question Id : 64635018906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b)  3HAY 2011 H L= fovan |
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Had (a), (c) 3R (d)
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(a), (b), (c) 3R (d)

—

3

e

=

Options:

64535074227,
E4E35074228.
4535074229,
4535074230,

o LIRS

Question Number : 74 Question Id : 64635018907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

First Human Development Report was published in

1. 1970
2. 1980
3. 1990
4. 2000

Options:
64535074251, 1

EAEZ507 4232, 2
EAE3507 4233, 3
BAE3507 4234, 4



Question Number : 74 Question Id : 64635018907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ty g4 fder RO o9 yaiiRa gs di?
1. 1970
2. 1980
3. 1990
4. 2000
Options:

E4E35074231. 1
EAE3507 4232, 2
EAE3507 4233, 3
64535074234, 4

Question Number : 75 Question Id : 64635018908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following Ministries provides for Centfral Sector Scheme of
assistance for prevention of alcoholism and substance abuse for social defence
services?

1.  Ministry of Family and Child Welfare
2. Mimstry of Labour and Employment
3. Ministry of Social Justice and Empowerment

4. Ministry of Health

Options:

64835074235, 1
E4E35074236. 2
64535074237, 5
64535074238, 4

Question Number : 75 Question Id : 64635018908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fofafad & | o19-91 F=e™ gEfoe e Jaei & ol 79 997 aut Aice vl &
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1. oiar 3R 94 ST 5Aad
2. ¥H 3R IR HATET
3. grHIfe T 3R AR wErad

4. W= {ATTY

Options:

64635074235, 1
64535074236, 2
64535074237, 2
4835074238 4

Question Number : 76 Question Id : 64635018909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is correct about the Gram Sabha?

1. A body consisting of persons registered in the electoral rolls of the
Panchayat at the village level

2. A body comprising of the total population of the Gram Panchayat
3. A body comprising of the total population of the village

4. A body consisting of persons registered in any electoral roll of the block

Options:

64535074239, 1
64535074240, 2
64835074241, 2
64535074242, 4

Question Number : 76 Question Id : 64635018909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535074239, 1
64535074240, 2
64535074241, =2
E4E35074242 4

Question Number : 77 Question Id : 64635018910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements are not correct?

(a) National Human Rights Commission (NHRC) is a product of the Protection of
Human Rights Act.

(b) The Protection of Human Rights Act i1s a product of National Human Rights
Commission.

(¢c) NHRC has a Chairperson who has been a Chief Justice of the Supreme Court.

(dy NHRC has a Chairperson who has been a Chief Justice of a High Court.

Select the correct answer from the options given below :

1. (ayand (b)
2. (b)and(c)
3. (b)and(d)
4.  (a)and (d)

Options:

64535074243, 1
64535074244 2
64835074245 =2
64535074246, 4



Question Number : 77 Question Id : 64635018910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FrofafEa § @ -3 oy a8 78 82
(a) g@qqﬁaﬁwm @09 3R it Iafy aFa HfIeR SReor sfifag 3 g
|

(b) A4 R IRawr 3fifam &1 Iafy APl AFEiieR 3 9 g ©
(¢) TUAUT.IRI. & 3ehel 98 Aiad gl 8, S S=aH -grTed &1 I TRTEer 81 gt

(d) TAUEIREL. BT 3me a8 Aiod el g, o B 3= Ty &1 HE i |1

&l

e feu T fAeed § 9 Tl ISR g
L. (a) 3R (b)
2. (b)) 3R (e)
3. (b) R
4. (a) 3R (d)
Options:

E4E3507 4243, 1
EAE3507 4244, 2
EAE3507 4245, 3
64535074246, 4

Question Number : 78 Question Id : 64635018911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is not true regarding the Code of Ethics of social work?

L,

2

Options:

Ethical responsibilities to social work profession
Ethical responsibilities towards social workers themselves
Ethical responsibilities with reference to the society

Ethical responsibilities with reference to social identities

EAE3507 4247, 1
64535074248, 2



EAE3507 4249, 3
BAE35074250. 4

Question Number : 78 Question Id : 64635018911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ProfafEd 5 3 w1 9a7e o1 3 SERA Ot & R 5 98 =78 87
. TS SR & Ui Aide Stalida
2. gmIee pdediel &1 wd & ufd =fde ITeia

3. AN & T H Afde Ioeila
4. GRS UgEH & Ul Afte Saeia

Options:

64535074247, 1
64535074248, 2
4835074249 =2
4535074250 4

Question Number : 79 Question Id : 64635018912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who is one of the chief exponents of “civic social work™?

1.  Fred Powell
2. Bob Mullaly
3. Jimlfe
4. Jan Fook

Options:

64635074251, 1

64635074252, 2

64535074252, 3
EAEZ507 4254, 4

Question Number : 79 Question Id : 64635018912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B TR 99 ST’ & TF Vadei 8 A 1s 2

. WS uidd
2. dlNgdad
3. fmgh
4., STFH

Options:

64535074251, 1
64535074252 2
E4E35074252. 2
4535074254 4

Question Number : 80 Question Id : 64635018913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which Article of the Indian Constitution provides the State to secure a social order for
the promotion of the welfare of the people?

1 Article 38
2. Article 39
3.  Article 41

4. Artticle 42

Options:

64535074255, 1
64535074256, 2
4835074257 2
4535074258 4

Question Number : 80 Question Id : 64635018913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 3T=g 38
2. 3g®g 39
3. 3gwg 41
4. 3THT 42

Options:

64635074255, 1
E4E35074256. 2
64535074257, 5
64535074258, 4

Question Number : 81 Question Id : 64635018914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Prohibition of Child Marriage Act, 2006 makes it illegal for girls to marry under

~ vyears of age and for boysunder  vears of age.
1. 2l and25
2. 18and 21
3. 2land23
4. 16and 18

Options:

64835074259, 1
E4E350742E80. 2
64535074261, 5
4535074262, 4

Question Number : 81 Question Id : 64635018914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 218R25
2. 18 3R 2l
3. 21 3R23
4. 16 3R 18

Options:

64635074259, 1
64535074260 2
64535074261, =
E4E350742E62. 4

Question Number : 82 Question Id : 64635018915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which ISO Standard focuses on social responsibility?
1. 9000
2 18000
3. 26000
4 32000

Options:

4635074263,
64535074264,
64535074265,
64535074266,

L N

Question Number : 82 Question Id : 64635018915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
D-9T 315.T9.2{1. 77D g I9iglid IR g ¢dl 2?2

1. 9000

2 18000
3. 26000
4 32000

Options:
64535074263, 1
64535074264, 2



EAE3507 4265, 3
BAE3507 4266, 4

Question Number : 83 Question Id : 64635018916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are the basic postulates on which the ILO standards lie?

(a) Labour i1s not a commodity
(b) Freedom of expression and of association are essential to sustained progress

(¢) Poverty anywhere constitutes danger to prosperity everywhere

Select the correct answer from the options given below :

. (a)and (b)only
2. (b)and (¢) only

3. (a)and (c) only

4. (a), (b)and(c)

Options:
E4E35074267. 1

EAE3507 4268, 2
EAE3507 4269, 3
BAE35074270. 4

Question Number : 83 Question Id : 64635018916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
3 gEyd SAfHROTE, f5F T eMz.ua.eh. AFe o/ ovd 8, g # @ @F-dt 87
(a) %ﬁéaﬁqﬁ%

by  fiefE @ wd 99 8 9 dedl Sad e & i eifard §
(c) TR IR B! 4 g1, 98 9t SFIE &1 Huwal & o waw Uer ot @

14 Ru e e § 4 s I g
l. a4 (a) 3R (b)
2. %ad (b) R (o)
3. Had (a) 3R (c)
4. (), () R ()

Options:



BAE35074267. 1
6435074268, 2
645350742645, 3
64535074270, 4

Question Number : 84 Question Id : 64635018917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are added to the preamble of the constitution of India?
(a) Socialist
(b) Secular
(¢) Integrity of the nation
(d) Belief, faith and worship
Select the correct answer from the options given below :
1. (a)and (b)only
2. (a), (b)and (d) only
3. (a),(b)and(c) only

4. (a), (b), (c) and (d)

Options:

64535074271, 1
64535074272 2
E4E350742732. 2
E4E35074274 4

Question Number : 84 Question Id : 64635018917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L &ad (a) 3R (b)
2. Fad (a), (b) AR (d)
3. Fad (a), (b) 3R (c)
4. (a),(b),(c) AR (d)

Options:

64535074271, 1
E4E35074272. 2
E4E350742732. 2
4535074274, 4

Question Number : 85 Question Id : 64635018918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of management by objectives (MBO) was given by
1.  Peter F. Drucker
2. Luther Gulick
3.  Rensis Likert

4, Blake and Mouton

Options:

4635074275, 1
64535074276, 2
64535074277, 2
645350742758, 4

Question Number : 85 Question Id : 64635018918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535074275, 1
64535074276, 2
E4E35074277. 2
E4E35074278. 4

Question Number : 86 Question Id : 64635018919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements is/are not true with regard to Rehabilitation Council
of India?

(a) RCIwassetupin 1986.
(b) RCI1s the apex government body to address matters related to disability.
(¢) RClis aregistered society under the Societies Act.

(d) RCI can take pumfive actions against unqualified persons dealing with the
disabled.

Select the correct answer from the options given below :

1. (b)only
2. {c)only
3.  (a)and(b) only
4.  (c)and (d) only

Options:

64635074279, 1

64635074280, 2

64535074281, 3
4535074282, 4

Question Number : 86 Question Id : 64635018919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



YR gafe oiteg & Sy & Fafifea 8 3 oF-a1@ o= a8 a8 2/8?

(a)  SR.H.3MS. BT 1986 H g3 W

(b) SRz Fxreaar ge¢dt aHel o Fuem & fou e 3 wer! Rem 2|
(¢) SRz Irrsct Siftif=aw & 3idvid ue Usiiepd amse! ¢ |

(@) R, F:Yen sfeadl & 91y 9eR Hd 999 3Ffed Aieqdl & [9%s Gsld®
SR B B

12 feu T e A 9 98 IwR gf
1. @aa (b)
2. Fad (¢
3. Ta (a) 3R (b)
4, FHAd (¢) AR (d)
Options:

E4E35074275. 1
EAE35074280. 2
64535074281, 3
BAE3507 4282, 4

Question Number : 87 Question Id : 64635018920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following techniques is used to address stuttering?
1.  Purposeful speech
2. Practical speech
3.  Delayed speech

4. Prolonged speech

Options:

64535074283,
645350742584,
64835074285,
E4E3507 4286,

[ N

Question Number : 87 Question Id : 64635018920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635074283, 1
64535074284, 2
64535074285, =
645350742586, 4

Question Number : 88 Question Id : 64635018921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What term refers to the knowledge, education, training, skills and expertise of workers
of a company?

1.  Human resources
2. Human capital
3. Intangible assets

4. Knowledge assets

Options:

64535074287, 1
4835074288, 2
4535074289 2
64535074290, 4

Question Number : 88 Question Id : 64635018921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835074287, 1
E4E35074288. 2
64535074289, o
64535074290 4

Question Number : 89 Question Id : 64635018922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the Rights of the Persons with Diability Act, 2016, there are

disabilities covered under groups.
1. 21and8
2. 14 and 3
3. 16 and 7
4. 7and4
Options:

E4E350742591. 1
BAE3507 4292, 2
64535074253, 3
64535074234, 4

Question Number : 89 Question Id : 64635018922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
435074291,

EAEZ507 4292,
EAE3507 4293,
BAE3507 42594,

[ N

Question Number : 90 Question Id : 64635018923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I wath List—II :

List-1 List—II
(Writs) (Purpose/meaning)
(a) Habeas Corpus (1) to certify
(b) Mandamus (11) by what authority
(¢) Prohibition (1) command directs to act
(d) Certioran (1v) to have the body of
(e) Qua Warranto (v) command directs not to act

Choose the correct option from those given below :
1. (a)-Q); (b)—1); (e)~(u); (d)-v); (e)+v)
2. (a)v); (b)-Qv); (c)(m); (d)-(1), (e)-(1)
3. (a)y-(v); (b)-(m); (c)~(v); (d)-); (e)-(11)
4. (a)y-(ui); (b)-Q); (c)iv); (d—(v); (e)-(11)

Options:

64635074295, 1
64535074296, 2
64535074297, 2
4835074298 4



Question Number : 90 Question Id : 64635018923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (a)); (b)-w); (e)~(un); (d)-v); (e)+v)
2. (@v); (b)-v); (o) u); (d)-Q); (&)-(1)
3. (a-Qv); (b)-(u1); (c)~(v); (d)-Q); (e)-(i)
4. (a-u); (b)-(); (¢)—1v); (d)~(v); (e)-1)

Options:

64535074295, 1
64535074296, 2
4835074297 2
4535074298 4

Question Number : 91 Question Id : 64635018924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following Universities has first started the undergraduate and PhD
programmes in social work?

1. Tata Institute of Social Sciences
2. Lucknow University
3. Delhi University

4. Shantimketan

Options:



EAE350742595. 1
64535074200, 2
64535074201, 3
64535074302, 4

Question Number : 91 Question Id : 64635018924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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fesan 82
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2. wETS faufeemea

3. fee= fayfaenea

4. =G a

Options:

64535074299, 1
4835074200, 2
4535074201, 2
64535074202, 4

Question Number : 92 Question Id : 64635018925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘South Asian Coalition for Child Servitude’ is associated with

—

Kailash Satyarthi
2. Malala Yousafzm

3. Mohammad Yunus
4. Swami Agnivesh

Options:

E4E35074303. 1
64535074204, 2
64535074205, 5
64535074306, 4

Question Number : 92 Question Id : 64635018925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635074203, 1
64535074204, 2
64535074205, =
64535074206, 4

Question Number : 93 Question Id : 64635018926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘A group of indigenous people with shallow history, having common name, language
and territory, tied by strong kinship bonds, practicing endogamy, having distinct
customs, rituals and beliefs’ is termed as
1. rural commumty

2. ribal commumnty

3.  caste community

=

religious community

Options:

64535074307, 1
4835074208, 2
4535074209 2
64535074210, 4

Question Number : 93 Question Id : 64635018926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635074207, 1
64535074208, 2
64535074209, =
4835074210 4

Question Number : 94 Question Id : 64635018927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The functional theory of social stratification 1s attributed to
1. T.B. Bottomore
2. Kingsley Davis
3.  Herbert Spencer

4, Karl Marx

Options:

64535074211, 1
64535074312, 2
64835074212 2
4535074214 4

Question Number : 94 Question Id : 64635018927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 2dl qeER
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Options:

64635074211, 1
64535074312, 2
645350743213 2
64835074214 4

Question Number : 95 Question Id : 64635018928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Durkheim’s study of suicide does help us to understand

(a) society’s hold over the individual
(b) individual’s hold on the society

(¢) swecide rates of various commumnifies

(d) degree of social integration of society

Select the correct answer from the options given below :
1. (b)and (c)only
2. (a)and (b) only
3. (a)and (d)only

4. (b)and (d) only

Options:

64635074215, 1
64535074216, 2
64535074217, 2
64535074218, 4



Question Number : 95 Question Id : 64635018928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. Fad (b) 3R (c)
2. HAd (a) AR (b)
3. Fad (a) 3R (d)
4. Had (b) 3 (d)

Options:

646350743215, 1
48350743216 2
64535074217, 5
64535074218, 4

Question Number : 96 Question Id : 64635018929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I ListII
(Theories) (Exponents)
(a) Cyclical (1) Karl Marx and Dahrendorf

(b) Linear evolutionary (i) A Toynbee
(¢) Dialectic (m) K. Davis and W.E. Moore

(d) Functional (iv) Auguste Comte

Choose the correct option from those given below :
1. (@)-(ii); (b)—1v); (e)-(1); (d)—i)
2. (a)-(); (b)-v); (¢)-Q); (d)—u1)
3. (a)-@v); (b)-Q); (e)-(ui); (d)—11)
4. (a)-Q); (b)~u); (c)—n1); (d)-(v)
Options:
64635074319, 1
64635074320, 2

64535074321, 3
E4E3507 4322, 4

Question Number : 96 Question Id : 64635018929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (a)-ii); (b)-Gv); (¢)-1); (d)—{ii)

i

(a)—(1); (b)—av); (¢)-); (d)-(ir)
3. (a)-v); (b)-(1); (e)-(ui); (d)~(i1)
4. (a)-Q); (b)-); (c)—(m); (d)-1v)

Options:

64835074219, 1
E4E35074220. 2
64535074321, 5
4535074322, 4

Question Number : 97 Question Id : 64635018930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Probation and parole are forms of
. deterrent punishment
2. retnbutive punishment
3.  extramural freatment

4.  rehabilitation

Options:

64535074323, 1
E4E35074324. 2
4535074225 2
64535074326, 4



Question Number : 97 Question Id : 64635018930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. fFareds
2. UiioREscs
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4. YA

Options:
435074323 1

EAE3507 4324, 2
EAE3507 4325, 3
BAE3507 4326, 4

Question Number : 98 Question Id : 64635018931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Stakeholder analysis involves

1. assessing relationship of different participants in the project as favourable
or unfavourable

2. plotting causal factors in rows or columns
3. collating information related to planning using symbols and arrows

4.  assessing the resources and capacities of different stakeholders in the
project

Options:

64635074327, 1
64535074328, 2
64535074329 2
4835074220 4

Question Number : 98 Question Id : 64635018931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
435074327 1

EAE3507 4328, 2
EAE3507 42329, 3
EAE3507 4230, 4

Question Number : 99 Question Id : 64635018932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is not a characteristic feature of traditional administration?
1. Fulfilment of legal requirements of government operations
2. Centralized decision making
3.  Participatory plannmng

4. Maintenance of law and order

Options:

4635074231, 1
64535074332 2
64535074333 2
64535074334 4

Question Number : 99 Question Id : 64635018932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635074231, 1
64535074332 2
64535074333 2
483507432324 4

Question Number : 100 Question Id : 64635018933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

POSDCORB are
1.  prnciples of administration
2. pnnciples of social welfare admnistration

3.  both the principles of administration, as well as social welfare
administration

4.  prnciples of decentralization

Options:

648350743351
E4E35074236. 2
64535074237, 5
645350742338, 4

Question Number : 100 Question Id : 64635018933 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

648350743351
E4E35074236. 2
64535074237, 5
645350742338, 4

Sub-Section Number : 2
Sub-Section 1d: 646350940
Question Shuffling Allowed : Yes

Question Id : 64635018934 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (101 to 105)
Cesticn Label | Comprehiension

Relationship 1s the soul of social casework. It 1s the principle of life which
vivifies the process of study, diagnosis and treatment and makes casework a
living, warmly human experience. It would be hard to exaggerate the importance
of the relationship in casework, not only because it is essential to effective
casework, but also because it 1s the practical living out of our basic convictions
about the value and dignity of the human person. It is based on the philosophy
of life which 1s both realistic and idealistic, which encompasses matter and
spirit, reason and faith, time and etermity... The casework relationship is the
dynamic interaction of attitudes and emotions between the caseworker and the
client, with the purpose of helping the client achieve a better adjustment
between himself and his environment.... There are natural relationships such as
husband-wife, parent-child, professional relationships such as physician-patient,
and many others such as friend-friend, customer-salesman. The casework
relationship differs from others on a number of points. It differs from the parent-
child relationship in that the casework relationship is temporary, and the
emotional component is not so deep and penetrating. The equality and mutuality
in a friend-friend relationship is absent in casework. The caseworker and the
chient are fundamentally equal as human beings; but in casework the caseworker
is the helping person, while the client is the person receiving help.

Sub questions



Question Number : 101 Question Id : 64635018935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The essence of the passage 1s
(a) realistic and idealistic philosophy of life
(b) importance of relationship in casework

(¢) casework as a living, warm, human experience
(d) dynamic interaction of attitudes and emotions

Select the correct answer from the options given below :
1. (a), (b), (c)and (d)
2. (a), (c)and (d) only
3.  (a)and (b) only

4.  (b) only

Options:

64535074239, 1
64535074340, 2
64535074341, =2
E4E350743242. 4

Question Number : 102 Question Id : 64635018936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The passage does not correspond to which of the following?

1.  Positivism philosophy
2. Orgamsmic approach

3. Diagnostic school

1. Functional school

Options:

64535074243, 1
64535074244 2
64535074345 =
64535074346, 4

Question Number : 103 Question 1d : 64635018937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The passage emphasizes on which of the following social work values?

1.  Human worth and dignity
2. Appreciating diversity
3. Social Justice

4. Access to resourceas

Options:

645350742347, 1
48350743248 2
4535074249 =2
64535074350, 4

Question Number : 104 Question Id : 64635018938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The purpose of the casework relationship is to help the client achieve a better

1. adaptation
2. adjustment
3.  diagnosis

4. freatment

Options:

64535074351, 1
64835074352 2
45350743252 2
645350742354, 4

Question Number : 105 Question Id : 64635018939 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following cannot be deduced from the passage?

1.  Gender bias n language
2. Professional hegemony

3.  Personal bias of author
4. Inherent mutuality in casework relationship

Options:
64535074355, 1



EAE3507 4356, 2
64535074357, 3
645350742358, 4

Question Id : 64635018934 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (101 to 105)
Juestion Label - Comprehension

ey Jafcae TAS B 1 3T Bl 21 I8 oifa- &1 98 RIgra & of 31, M, SR
@I I Heal ¢ aUT Jaiads H & oliad, Sde-=nd AHaE FT =Y 41 2|
dufdTe o1d § JdY BT ST Aew Had 9ol 7ol ¢ (& g8 UHTE s & o
3f=ard &, sfew g safed ot Hew aur vater &t e T YR ¥ 0T AEEINSG SHia=
1t 21 78 ofias & I9 <9 W nyTia 2 o aunfare) o srexare} ST 8, frd ger o
3T, TG 3R 3= B1d 3R fea=an fea €1 ... Jafeae i 99y dafaqe ordeal aur
Tart & dH Srfighy Td AT &1 TS e ¢ o I=a gardf &1 wd aur uhaw
& S IR ITHO T H | Jgad B3 €. PO WIS F9Y S Ufg-Tel! &1, -
T T g9y AEIe 9y o Rfews - o1 99y qut 3 iR UeR & 99y oY
-t & o9, e -fawar & e Sy 21 8| dafede ol 99y oy el 9 e fagaif
X o Brar 21 g gey Hray/Nd-a= & o9 & 99 9 59 o § e 2 1 Sufeas ord 9ey
3ryrdt B € a1 I TS Sfagd I e Ud HHYe) TRl g 21 et s e S
Y§Y B I aUT TEIUSTRAT 3aidas S 9ey # 781 2t 21 dafeas srdeat aun Sandf
Hayd Y ¥ 799 Y § 96 g1d ¢ Wy daiae o & g J dafdae sded agmal
TaHddl eidl & oidie Jarif gerdar s

Sub questions

Question Number : 101 Question Id : 64635018935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. FFA (a),(c) AR (d)
3. Fad (a) 3R (b)
4. Had (b)
Options:

64535074339, 1
64535074340, 2
E4E35074241. 3
BAE3507 42342, 4

Question Number : 102 Question Id : 64635018936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. g Ay
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4.  USHFES FERYRT

Options:

645350742343, 1
48350743244 2
4535074245 =2
64535074246, 4

Question Number : 103 Question Id : 64635018937 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TN | Y A S 9 amniee o % 15 1R 99 a1 mang?
1. {4 % Ifed gyt vafer

2. fRya s agw
3. Yo OE
4. GIIY=T B GEan

Options:

645350742347, 1
48350743248 2
4535074249 =2
64535074350, 4

Question Number : 104 Question Id : 64635018938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jaice B ey H1 3TN Jardf @i 59 &1 A 95k S ° Jerdl BT 82

1. 3gHpar
2. HHeH™
3. frem
4. JIUER

Options:

64535074351, 1
64835074352 2
45350743252 2
645350742354, 4

Question Number : 105 Question Id : 64635018939 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e 9 fRaferfaa 7 oo e 78t Roren o1 9o 22
1. o1 H i gdue
2. GRS 3Meud
3. O9S o AR GhaUe
4. dgfene o GEY H 3eid GergeTal

Options:
64535074355, 1



EAE3507 4356, 2
64535074357, 3
645350742358, 4

Sub-Section Number: 3
Sub-Section 1d: 646350941
Question Shuffling Allowed : Yes

Question Number : 106 Question 1d : 64635018940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What are the sub-types of popular social action?

1. Direct Mobihsation Model; Dialectical Mobilisation  Model;
Conscientization Model

2. Direct Mobilisation Model; Dialectical Mobilisation Model, Pluralist
Conflictual Model

3. Legslative Social Action Model; Direct Mobilisation Model; Dialectical
Mobilisation Model

4. Economic Sanction Model; Physical Action Model; Conscientization
Model

Options:

64635074359, 1
64535074360, 2
64535074361, 2
E4E35074362. 4

Question Number : 106 Question Id : 64635018940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AH T FHIS VR & HIH-H JU-THR g7
1. U SIS AlSH, §EI0T aHed] HisH, Sdfddesiied Alsd
2. U AME<l AlSd; GEIE aHac] Aisd, Sgadiel 99y Aied
3. faurh Smifores UeR AiSH, el dHeg! Hisd, galdie aFagl Aied
4. onffe viasy wisw, Yifdes tew= Aisy, safdasiad disa

Options:
64535074359, 1
E4E35074360, 2



EAE35074361. 3
BAE3507 4362, 4

Question Number : 107 Question Id : 64635018941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s not an element of social policy analysis?
1.  Policy specification
2. Policy feasibility
3.  Policy merits

4. Policy advocacy

Options:

64535074363, 1
E4E35074364. 2
4535074265 2
64535074366, 4

Question Number : 107 Question Id : 64635018941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frofafaa ¥ @ oF-31 g =i e srae T8 27
1. g fateceE

2. Hifa sgaedan
3. Hfas o

4, =ifd @l 9BTad

Options:

4835074363, 1
64535074264, 2
64535074365, o
64535074366, 4

Question Number : 108 Question Id : 64635018942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Right to Education was made a fundamental right under of the Indian
Constitution.

[E—

Article 15 (4)
2. Article2l
3.  Article 21 (A)

4. Atticle 16(4)

Options:

64535074367, 1
E4E35074368. 2
4535074269 2
64535074370, 4

Question Number : 108 Question Id : 64635018942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e & SMYHR S YR & JRU & & deq Hayd MUSR S T |
1. TS 15(4)
2. 3g®g 21
3. 3G 21 (A)
4.  3fTEg 16(4)

Options:

64535074367, 1
4835074368, 2
4535074269 2
64535074270, 4

Question Number : 109 Question Id : 64635018943 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following gases are called as “greenhouse gases’?

1. Ethane and methane

2, Carbon monoxide and carbon dioxide
= Carbon dioxade and methane

4. Ethyl isocyanate and hydrogen sulphide

Options:

64835074371, 1
64535074272 2
64535074372, 5
64535074374 4

Question Number : 109 Question Id : 64635018943 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Faferad T ° 9 R e TN e o 87
1. 299 3R mA

2. BT HFIGEES 3R BIET STZTHES
3.  THE- SBIEEEs AR HYe

4.  TUEH AEHMEAT IR EESOH JehEsS

Options:

64535074371, 1
64535074372 2
64535074373 2
E4E35074374. 4

Question Number : 110 Question Id : 64635018944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Panchayats in modern India are characterised by

(a) participation of people at grassroots level
(b) self-reliance

(¢} empowering woImen
(d) devolution of financial power

Select the correct answer from the codes given below :

et

(a), (b) and (c) only

=

(a), (b), (¢) and (d)
3. (b),({c)and (d) only

4. (a)and (c) only

Options:
E4E35074375. 1

EAE3507 4376, 2
EAE35074377. 3
BAE350742378. 4

Question Number : 110 Question Id : 64635018944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



amyfie YR & daTad @t R
(a)  STHMITR R oFd 3 ifser!
(b) AR

(c)  Higan fedmor

(d) o ieaal &1 v s s

4 fGu U e H ¥ 98l ST I
1.  &ad (a), (b) 3R (¢)

2. (), (b), (¢) 3R (d)
3. &dd (b), (©) MR ()
4.  Had (a) MR (c)

Options:

64535074375, 1
64535074376, 2
E4E3E5074277. 2
64535074273, 4

Question Number : 111 Question Id : 64635018945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Gender as the basis of social inequality 1s structured into female and
male spheres.

Reason (R) : All women are not equally unequal in their families and communities.
Choose the correct option from the following :
1.  (A)istrue and (R) 1s false
2. Both(A)and (R) are true and (R) is the correct explanation of (A)
3.  Both(A)and (R) are true and (R) is not the correct explanation of (A)
4. (A)is false and (R) 1s true
Options:

EAE350742759. 1
64535074280, 2



EAE350742381. 3
BAE3507 42382, 4

Question Number : 111 Question Id : 64635018945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HIUHYT (A) . T A1 & YR & FU H i gEst ok afganeit & i
o g ¢

TF (R) .t AfgEm o= ofERi 3R I | TG9AN FU ¥ A 8l 8

4 feu U et § 9 9 @1 9g Sifen
(A) TATAR(R) 32

=

2. (ATWR) IR TAE MR (A) T T (R) ©
3. (A)TWE(R)TFI T § 3R (A) 3 Igiaaren (R) &8

4. (A)3EITMR) TIT
Options:
Cde3E07423759. 1
CE4EZE07 4250, 2
E4E2E0743581. 2
CAEZE074382. 4

Question Number : 112 Question Id : 64635018946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The term “White Collar Crime’was first adopted by
1. C.Barnes
2.  E. Sutherland
3. A.Cohen
4.  E. Durkheim

Options:

64535074383, 1
4835074384, 2
4535074285 =2
645350742586, 4

Question Number : 112 Question Id : 64635018946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. S E
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Options:

64535074383,
64535074384,
E4E3507 4385,
45350742586,

o P

Question Number : 113 Question Id : 64635018947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I with List-II :

List—I List—II
(Articles) (Provisions)
(a) Article 14 and 15 (1) Fundamental Duties
(b) Article 16 (i1} Right to Equality
(¢) Article 17 (1) Abolition of Untouchability
(d) Article 51 A (iv) Right to Equality in Public
Employment

Choose the correct option from those given below:
1. (a)-(u); (b)-Q); (c)-1); (d)-(1v)
2. (a-); (b)—v); (e)-(u); (d)—1)
3. (a)-(v); (b)—~(ui); (1) (d—1)
4. (a-); (B-); (©)iv); (d)(ii)

Options:
E4E35074357. 1

EAE3507 4388, 2
EAE3507 42389, 3
EAE3507 4330, 4



Question Number : 113 Question Id : 64635018947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 1 G119 gAferd S

-1 gat-11
(erT=a) (STaUT)
(@) 3FDg 143K 15 () FEvEsaA

(b) 3T 16 (i) A BT VSR
(c) or=g17 (iil) YA THE
(d) 3r=TSIA (iv) o= el °§ GHHd 31
Ifer
feu U el # I 9 &1 99 P -

. (a-Qi); (B)-Q1); (0)—(u); (d)-Gv)
2. (a)-(); (b)-Gv); (o)), (1)
3. (a)-v); (b)-n); (e)-1); (D)
4. (a)-Q); (D)~1); (c)-v); (d)-(m)

Options:

646350742387, 1
64535074388, 2
64535074389, 2
4835074290 4

Question Number : 114 Question Id : 64635018948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The capacity of any person, group or institution to issue commands is termed as
1. Power
2. Authonty
3.  Influence

4. Right

Options:



E4E350742391. 1
6435074382, 2
645350742383, 3
645350743394, 4

Question Number : 114 Question Id : 64635018948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

freft safaa, g sruar G=i & I O &7 Pt &Fa St 51 HEl ST 87

1. wfa
2. T®R
3. UHE
4. SR

Options:

64535074291, 1
4835074392 2
4535074292 2
64535074294, 4

Question Number : 115 Question Id : 64635018949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UNESCO has recogmsed the Western Ghats as one of the most important
biodiversity hotspots in the world.

1. Six

2. Seven

3. Eight

4. Nine

Options:

64635074295, 1
64535074396, 2
645350743297, 2
48350743298 4

Question Number : 115 Question 1d : 64635018949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gDl 7 I UIe B 3y & aiide gewquf o fafdear aa 83 & wu o
ol & 2

1. B3
2. 9mad
3. amad
4, 94

Options:

645350742395,
64535074396,
64535074397,
E4E35074398.

[ N

Question Number : 116 Question Id : 64635018950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Articles of the UN Convention on the Rights of the child
provides for the protection of children in and out of the home?

1. Artclel7
2. Article 18
3. Arficle 19
4. Article 20

Options:

64535074299,
4835074400,
4535074401,
4535074402,

o IR

Question Number : 116 Question Id : 64635018950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Yo T @1 919 SfieR et oz & Fuiied § | 59 ogoe § Wk W o
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1. FBc17
2.
3. g% 19
4,

Options:



EAE3507 4399,
BA53507 4400,
64535074401,
6453507 440%Z,

[ N N

Question Number : 117 Question Id : 64635018951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Assertion (A) : Ecofeminism says that women are closer to nature than men.

Reason (R) : This closeness to environment makes women more nurturing and
caring towards their environment.

Choose the correct option from the following :

1.  Both (A)and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)istrue and (R) 1s not true

4. (A)isnot true and (R) is true

Options:

4635074403, 1
64535074404, 2
64535074405, =
64535074406, 4

Question Number : 117 Question 1d : 64635018951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

aftruT (A) - TR THiaTE & SRR gos! 1 o | Afeant vof & afte e 2|

5 (R) :W@@%m%ﬁﬁmﬁw%wﬁaﬁwﬁ
CEIRIE]

= o U ieed © | T8l TR &1 994 S :
. (AIRE®) SFIAL(A) FIFGASR) B
2. (A)SRR)IF g g afeT(A) S adiame(®R) T8 ¢
3. (A)TATR((R) Ia EE
4. (ATITETARR)TAT
Options:

E4E35074403. 1
64535074404, 2



E4E3507 4405, 3
BAE3507 4406, 4

Question Number : 118 Question Id : 64635018952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Find the odd one out :
1.  Picketing
2. Gherao
3.  Strike
4. Lockout

Options:

64635074407, 1
64535074408, 2
64535074409, =
64835074410 4

Question Number : 118 Question Id : 64635018952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ELEEak-c
. &=
2. WA
3. Esdd
4. s
Options:

64535074407, 1
64535074408, 2
64535074409, 3
EAEZ5074410. 4

Question Number : 119 Question Id : 64635018953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Article 32 and Article 226 of Indian Constitution deal with

[—

judicial remedies
2 constitutional remedies
3. adminmistrative remedies

4. immunity to the President and Governor

Options:

64835074411, 1
64535074412, 2
64535074412 5
64535074414 4

Question Number : 119 Question Id : 64635018953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

YR T3 & g 32 3R TG 226 & 99 fFa 82

1. e IER
2. GayiRe IR
3. UYH® JUER

4. PO SR IsuUTE & forg Ife

Options:

64635074411, 1
64535074412 2
64535074413 =2
64835074414 4

Question Number : 120 Question Id : 64635018954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For social workers the indigenous knowledge 1s useful for

(a) making meaning of socio-historical and cultural contexts
(b} locating roots of marginalization and oppression

(¢) making social work practice global

(d) making social work practice more just

Select the correct answer from the codes given below :
1. (a)and (d) only
2. (b)and{c)only
3. (a), (b)and(d) only

4. ({a), (c) and (d) only

Options:

64535074415,
64535074416,
64535074417,
4535074418,

[ N

Question Number : 120 Question Id : 64635018954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT PHriEdis & g S F1 [ty Iuan 82

() SIS -UfETS SR i deHl 3 e ferem
(b)  HHidie iR Iafis &1 o1 fafgd s
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e feu U g H 9 98l SR g
1. ®ad (a) AR (d)
2. Fad (b) 3R(c)

3. &ad (a), (b) R (d)
4. Had (a), (c) 3R (d)

Options:
64535074415 1

E4E3507441E. 2
EAE3507 4417, 3
BAE3507 44158, 4

Sub-Section Number: 4
Sub-Section Id: 646350942
Question Shuffling Allowed : Yes

Question Id : 64635018955 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (121 to 125)
Juestion Label - Comprehension



Cloward and Ohlin have identified three major types of delinquent subcultures viz. the
criminal, the conflict and the retreatist. A particular one that emerges in any given
sociocultural setting will be a function of the availability of illegitimate opportunities.
The first 1s characterised by illegal money making activities, the second emphasizes
acts of violence and gang wars and the third emphasizes drug use and other kicks.
Criminal subculture tends to arise in lower-class neighbourhood where successful and
big time criminals reside and are also willing to associate with juveniles. Juveniles in
this social class do not have conventional role models of successful people who have
achieved their success through legitimate channels. The child has an opportunity to
actually perform illegitimate roles as such activities find support in his neighbourhood
milieu. Conflict subculture is found in areas where there is no alliance between criminal
and conventional elements. This subculture features violence and/or threat of violence
as a method of getting status. In such neighbourhoods young people tend to organise
themselves into commumity gangs contending with one another for ‘rap’ through a
show of violence and toughness. Social controls are also weak in these areas. Retreatist
subculture is manifested through or in the use of drugs. It is found in areas where either
repressive police measures make street fighting quite dangerous or where moral and
other inhibitions against the use of violence exist. Individuals denied access to
‘criminal” and ‘conflict” opportunities tend to withdraw into a world of narcotic drugs.
Cloward and Ohlin are of the view that if there 1s liftle or no access to drugs, it 1s not
likely that the refreatist subculture would develop. Similarly, where the means of
violence are not available to juveniles, a violence oriented subculture would most
probably not develop.

Sub questions

Question Number : 121 Question Id : 64635018956 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The absence of association among conventional and criminal elements leads to the
emergence of

1. criminal subculture
4 conflict subculture
3. retreatist subculture

4. 1llegitimate subculture

Options:
64535074419 1

E4E3507 4420, 2
EAE3507 4421, 3
BAEZ507 4422, 4

Question Number : 122 Question Id : 64635018957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which among the following factors that confributes to delinquency is mussing in the
narration?

I Economic
2.  Personahty
3. Social

4. Neighbourhood

Options:

64535074423, 1
64535074424 2
64835074425 =2
4535074426, 4

Question Number : 123 Question Id : 64635018958 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A criminal subculture 1s developed mainly because of

1. availability of illegitimate opportunities
2 availability of conventional role models
3.  expernencing status in the gangs
4. thrlling life experiences

Options:

64635074427, 1

64635074428, 2

64535074425, 3
64535074430, 4

Question Number : 124 Question 1d : 64635018959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statement(s) is/are not frue regarding development of
delinquent subcultures?

(a) There is a means to access such acts and incidents.
(b) Illegitimate role models are available in the locality.
(¢) Enforcement of law is not stringent.
(d) The social environment accepts such activities.
Select the correct answer from the options given below :
1. (a) and (b)
2 (b) and (¢)
3. (c)and(d)
4 (c) only

Options:
E4E3E0744231.

EAE3507 4432,
EAE3507 4433,
BAE3507 4434,

o LI

Question Number : 125 Question 1d : 64635018960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following biases are seen in the narration?
(a) Gender bias
(by Class bias
(¢) Communal bias
(d) Religious bias
Select the correct answer from the options given below :
1. (a) and(b) only
2 (b) and (c) only
3. (¢)and(d) only
4. (a)and (c) only

Options:
64635074435, 1



EAE3507 4436, 2
BAE3507 4437, 3
64535074435, 4

Question Id : 64635018955 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (121 to 125)
Juestion Label - Comprehension
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Sub questions

Question Number : 121 Question 1d : 64635018956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

URURS 3R ORI a6l & S T30S &t Sudid ¥ f[ae 3¢ g 82

1. Toide IUSSpi
2. g Judspid

3. Uade ITETHid
4. 3AUTE IuTEBid

Options:
4535074419, 1



EAE3507 4420, 2
BAE3507 4421, 3
BAE3507 4427, 4

Question Number : 122 Question 1d : 64635018957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. enfife
2. ofedd
3. HHIee
4. oiaw

Options:

4635074423, 1
64535074424 2
64535074425 =
64535074426, 4

Question Number : 123 Question 1d : 64635018958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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2. URUNS e el S Suwsd
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Options:

64535074427, 1
E4E35074428. 2
64535074429, 5
64535074420 4

Question Number : 124 Question Id : 64635018959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2 fr e § ¥ 98 I ghu:
1. (a) 3R (b)
2. (b) 3R ()
3. (o) ¥R
4.  &qd(c)
Options:

64535074431, 1
E453507 4432, 2
E4E3507 4433, 3
EAE3507 4434, 4

Question Number : 125 Question Id : 64635018960 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jaia & Frafied § 3 3152 gl R 33 82
(@ O e

(b) g

() HeR® w@E

(d) enfiie i
2 o g el § 9 98 I I
l.  &ad (a) 3R (b)
2. @ad (b) 3R (o)
3. &ad(c) 3R (d)
4. FIE(a) 3R (0)
Options:

64535074435 1



EAE3507 4436, 2
BAE3507 4437, 3
64535074435, 4

Sub-Section Number: 5
Sub-Section Id: 646350943
Question Shuffling Allowed : Yes

Question Number : 126 Question 1d : 64635018961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which are the sources of indigenous knowledge?

(a) Folklores

(b) Oral narrations

(¢) Stories

(d) Novels

Select the correct answer from the options given below :
1. (a) and (b) only
2. (a), (b)yand(c) only
3. {c¢)and (d) only

4. (a), (b), (¢) and (d)

Options:

64635074439, 1
64535074440, 2
64535074441 =
4835074442 4

Question Number : 126 Question Id : 64635018961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &9d (a) 3R (b)

2. Fad(a), (b) 3 (¢)
3. &ad (c) 3R (d)

4. (a), (b),(c) AR (d)
Options:
Cde35074429 1
CACZEE0F 4440 2
EAEZEE07 4441 2
CAEZEQF 4442 4

Question Number : 127 Question Id : 64635018962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following challenge the inequalities based on gender and class?
(a) Ethnic sensitive social work

(b) Anti-discriminatory social work

(¢) Fermmst social work

(d) Radical social work

Select the correct answer from the options given below :

=

(a) and (b) only

2. {(c)and (d) only
3. (b}, (c)and (d) only

4. (a), (b),(c)and (d)

Options:

64535074443 1
4535074444 2
64535074445 5
64535074446, 4

Question Number : 127 Question Id : 64635018962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. Fad(c) 3R (d)
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4. (@), (b),(c) IR ()
Options:
64535074443,
4835074444,
4835074445,
453507 4446,

o IR

Question Number : 128 Question Id : 64635018963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

National YWCA School of Social Work was started in the year at

1. 1946, Delhi
2. 1946, Lucknow
3. 1948, Lucknow

4. 1947, Dellu

Options:

4635074447, 1
64535074448, 2
64535074449 =
64535074450, 4



Question Number : 128 Question Id : 64635018963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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—
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1946, fewsil
2. 1946, TETS

3, 1948, d@°%

4. 1947, feei

Options:

4635074447, 1
64535074448, 2
64535074449 =
64535074450, 4

Question Number : 129 Question 1d : 64635018964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who founded the Satya Shodhak Samaj?
1. Gopal Krishna Gokhale
2. Mahatma Gandhi
3. B. R Ambedkar
4. Jyotiba Phule

Options:

64535074451, 1
64535074452 2
64835074452 =2
4535074454 4

Question Number : 129 Question Id : 64635018964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535074451, 1
64535074452, 2
64535074452, 3
EAEZ507 4454, 4

Question Number : 130 Question Id : 64635018965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following prescribed the education, resource management and
consultancy functions of social work?

1.  Ammando T. Morales and B. W. Sheafor
2. B. DuBois and K. K. Miley
3. R. A Skidmore, M. G. Thackeray and O. W. Farley

4. R. Adams, L. Dominelli and M. Pyne

Options:
64535074455 1

E4E3507 4456, 2
EAE3507 4457, 3
EAE3507 4458, 4

Question Number : 130 Question Id : 64635018965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535074455 1

EAE3507 4456, 2



EAE3507 4457, 3
64535074458, 4

Question Number : 131 Question Id : 64635018966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Asserfion (A) :  Social legislations ensure access to fundamental nights.

Reason (R) : PIL petition can be filed for violation of social legislations.
Choose the correct option from the following :

I (A) 1s true and (R) 1s false

2. (A)is false and (R) is true

3.  Both{A)and (R) are true and (R) is the correct explanation of (A)

4.  Both(A)and (R) are true but (R) 1s not the correct explanation of (A)

Options:
E4E35074459,

EAE3507 4460,
EAE3507 4461,
BAE3507 4462,

[ N S

Question Number : 131 Question Id : 64635018966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535074459, 1



EAE3507 4460, 2
6435074461, 3
BAE3507 4482, 4

Question Number : 132 Question 1d : 64635018967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following is the classical paper presented by Flexner on the
professional status of social work?

1. s Social Work a Profession?
2. Earmarks of a Profession
3. Atiributes of a Profession

4. Social Work as a Profession

Options:
E4E350744E53. 1

EAEZ507 4464, 2
EAE3507 4465, 3
BAE3507 4466, 4

Question Number : 132 Question Id : 64635018967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535074463, 1
64535074464 2
E4E35074465 2
64535074466, 4

Question Number : 133 Question Id : 64635018968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is not credited to Mary Richmond?
1.  Social Diagnosis
2. Whatis Social Casework
3.  Letters to Fellow Workers

4. Friendly Visiting Among the Poor

Options:

64835074467, 1
4535074468, 2
64535074469, o
64535074470, 4

Question Number : 133 Question Id : 64635018968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. e Sy
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4. sl fafefcT emi g gsR
Options:
64535074467, 1
4835074468, 2
64535074469, 5
64535074470, 4

Question Number : 134 Question Id : 64635018969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The awareness that comes through the social analysis of conditions and people’s role in
changing these conditions 1s known as

1.  discourse analysis
2. reflexivity
3. consclentization

4.  praxis

Options:

64635074471, 1
64535074472 2
64535074473 o
64535074474 4

Question Number : 134 Question 1d : 64635018969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

uRfRyfal & Tmmie fawr ok 37 ol & Sqara § SHar ot Yt Saedt snfa &t
Fra # 3 g &u o 991 o 22

. yay fa=eso
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Options:

64635074471, 1
64535074472 2
64535074473 o
4835074474 4

Question Number : 135 Question Id : 64635018970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sustainable development 1s a concept that appeared for the first time in
I.  UN Conference on Environment and Development
2. Brundtland Report
3.  UN Conference on Human Environment

4. World Summit on Sustainable Development

Options:
E4E3507 4475,

1
EAE3507447E. 2
EAE3507 4477, 3
EAE3507 4478, 4

Question Number : 135 Question Id : 64635018970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835074475 1
E4E35074476. 2
64535074477, 5
64535074478, 4

Question Number : 136 Question Id : 64635018971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who founded the Industrial Areas Foundation as an orgamzation dedicated to the social
and economic empowerment of the working class people and the poor?

L, Cesar Chavez
2. Saul Alinsky
3, Mike Miller

4.  John Lewis

Options:

64535074473, 1
E4E35074480. 2
4535074481, =2
64535074482, 4

Question Number : 136 Question Id : 64635018971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

EAE3507 44739, 1
E4E3507 4480, 2
645350744581, 3
64535074452, 4

Question Number : 137 Question 1d : 64635018972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A sampling method in which units are selected from the sampling frame according to
fixed intervals is called

[

simple random sampling
2. disproportionate stratified random sampling
3.  proportionate stratified random sampling

4.  systematic sampling

Options:

646350744583, 1
64535074454, 2
64535074485 2
48350744586, 4

Question Number : 137 Question Id : 64635018972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. UG WG dg s Sufen
4.  goarkua Jofem

Options:

646350744583, 1
64535074484, 2
64535074485 =
64535074456, 4

Question Number : 138 Question 1d : 64635018973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following research designs is hypothesis mandatory?
1. Exploratory
2. Explanatory
3. Descriptive

4.  Experimental

Options:

646350744587, 1
64535074488, 2
645350744389 2
E4E35074490. 4

Question Number : 138 Question Id : 64635018973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535074487, 1
64535074488, 2
64535074459 =
64535074430, 4

Question Number : 139 Question 1d : 64635018974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



research 1s a strategy of enquiry in which the researcher studies the lives
of individuals, asks them to provide stories about their lives which is then often
retold/restoried by him/her.

1.  Ethnographic
2. Phenomenological
3. Narmative

4. Discourse analysis

Options:

64635074491, 1
E4E35074492. 2
4535074492 =2
64535074494 4

Question Number : 139 Question Id : 64635018974 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535074491, 1
64535074492, 2
64535074492 o
64535074494 4

Question Number : 140 Question Id : 64635018975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



procedures are those in which the researcher seeks to elaborate on or
expand on the findings of one method with another method .

1.  Statistical conclusion validity
2. Sequential mixed methods
3.  Mixed methods notation

4.  Concurrent mixed methods

Options:

64535074495, 1
4835074496 2
4535074497 2
64535074498, 4

Question Number : 140 Question Id : 64635018975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535074495, 1
64535074496, 2
64535074497, 2
E4E35074498. 4

Question Number : 141 Question Id : 64635018976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A 1s not actually measured or observed in the study; it exists but its
mfluence cannot be directly detected.

1.  mediating variable
2. moderating variable
3.  confrol vanable

4. confounding variable

Options:

64535074499, 1
4835074500 2
4535074501, 2
64535074502, 4

Question Number : 141 Question Id : 64635018976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535074499, 1
64535074500, 2
64535074501, =
E4E35074502. 4

Question Number : 142 Question Id : 64635018977 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are to be considered while deciding the sample size in a
qualitative research?

(a) Saturation

(b} Heterogenicity of the population

(¢) Scope and specificity of the research question

(dy Emphasis on the sampling frame

Select the correct answer from the options given below :
(a) and (d) only

2 (b) and (c) only

3. (a),(byand(c)only

4 (a), {c) and (d) only

[—

Options:

64835074503, 1
E4E35074504. 2
64535074505, 5
64535074506, 4

Question Number : 142 Question Id : 64635018977 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35074503.
4535074504,
4535074505,
64535074508,
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Question Number : 143 Question Id : 64635018978 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The process whereby a researcher provides the people on whom he/she has conducted
research with an account of his/her findings 1s termed as

1.  research censorship

2 research analysis

3. respondent validation
4

research venfication

Options:

64535074507, 1
64835074508, 2
4535074509 2
64535074510, 4

Question Number : 143 Question Id : 64635018978 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535074507, 1
64535074508, 2
64535074509, 2
E4AE35074510. 4

Question Number : 144 Question Id : 64635018979 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A distortion in the representativeness of the sample that arises when some members of
the population stand liftle or no chance of being selected for inclusion in the sample is

—_—

sampling error type-I

2. error of non-response
3.  sampling bias

4. sampling error type-II

Options:

64535074511, 1
64535074512 2
64835074512 2
64535074514, 4

Question Number : 144 Question Id : 64635018979 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535074511, 1
64535074512, 2
64535074512, 5
64535074514 4

Question Number : 145 Question Id : 64635018980 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Mean years of schooling” 1s an example of which level of measurement?
1.  Ordinal
2. Nominal
3. Ratio

4, Interval

Options:

4635074515, 1
64535074516, 2
64535074517, =
64535074518, 4

Question Number : 145 Question 1d : 64635018980 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635074515, 1
64535074516, 2
64535074517, =
64535074518, 4

Question Number : 146 Question 1d : 64635018981 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A systematic review that includes only quantitative studies and which seeks to
summarize these studies quantitatively is

1.  meta— synthesis
2.  meta— analysis
3. meta — ethnography
4.  meta —narrative
Options:
64635074519
64635074520

1
2
BAE35074521. 3
64535074522, 4

Question Number : 146 Question Id : 64635018981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635074519, 1
64535074520 2
64535074521, =
4835074522 4

Question Number : 147 Question 1d : 64635018982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following entails a deductive approach to the relationship between theory
and research in which the accent is placed on the testing of theories?

1. Quanttative research
2. Qualitative research
3.  Phenomenological research

4. Intervention research

Options:

64835074523, 1
64535074524, 2
64535074525, o
64535074526, 4

Question Number : 147 Question Id : 64635018982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. HERHES WY

2. YU MY
3. we-faqe dedt Ty
4. IET Y

Options:

64635074523, 1
64535074524 2
64535074525 2
E4E35074526. 4

Question Number : 148 Question Id : 64635018983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Sanskritization is a form of

f—

anticipatory socialization
2. counter-socialization

3. acculturation

4.  anticipation

Options:

64635074527, 1
64535074528, 2
64535074529 2
64835074520 4

Question Number : 148 Question Id : 64635018983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. UguiEE gamsie
2. Uld-gHSISI

3. OTESpIIRW

4. R

Options:

E4E35074527. 1
64535074528, 2
64535074529, 5
64535074530, 4

Question Number : 149 Question Id : 64635018984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When the children leave home for higher studies, to marry or to pursue a career, then
parents must face which type of adjustment?

=

Compulsory retirement
2. Compulsory relocation
3.  Empty nest

4. Role reversal

Options:

64635074531, 1
64535074532 2
64535074533 2
64535074534 4

Question Number : 149 Question 1d : 64635018984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 39 sarfafa
2. 39 g
3. Rea+s

4. HHSIIGHHI

Options:
645350745511

EAE3507 4532, 2
E4E3507 4533, 3
64535074534, 4

Question Number : 150 Question Id : 64635018985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The stage which occurs at the dividing line between childhood and adolescence and
also represents the time when the criteria for sexual maturity appear is

1.  prepubescent stage
2.  pubescent stage
3.  puberty stage
4. postpubescent stage
Options:
64635074535, 1
64635074536, 2

6435074537, 3
64535074538, 4

Question Number : 150 Question Id : 64635018985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. od e R (Hiusd< o)
2.  WEYT Xd

3. TEk W

4, TCTEET X

Options:

648350745351
4535074536 2
64535074537, o
64535074528, 4



